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INSTRUCTIONS FOR CANDIDATES

1d-|?':c t(;cl:d?o Qns:f?r: STheet S inside this Test Booklet. When you are
pen the Test Booklet, take out the Answer Sheet and fill in

the particulars on Side-1 and §j -
Ballpoint Pen only. de-2 carefully with Blue/Black

. The test is of 22 hours duration and consists of 150 questions. There

IS N0 negative marking.

. Use Blue/Black Ballpoint Pen only for writing particulars on this

page/marking responses in the Answer Sheet.

T[we CODE for this Booklet is k.. Make sure that the CODE printed on
Side-2 of the Answer Sheet is the same as that on this Booklet. Also
ensure that your Test Booklet No. and Answer Sheet No. are the same.
In case of discrepancy, the candidate should immediately report the

matter to the Invigilator for replacement of both the Test Booklet and
the Answer Sheet.

. This Test Booklet has Five Parts—I|, I, lll, IV and V, consisting of 150

Objective-type Questions and each carries 1 mark :

Part-I : Child Development and Pedagogy (Q. Nos. 1-30)
Part-Il : Mathematics and Science (Q. Nos. 31-90)
Pari-lll : Social Studies/Social Science (Q. Nos. 31-90)
Pari-IV : Language-! (English/Hindi) (Q. Nos. 91-120)
Pari-V : Language-!l (English/Hindi) (Q. Nos. 121-150)

6. Candidates have to do Question Nos. 31 to 90 EITHER from Part-l|

(Mathematics and Science) OR from Part-lll (Social Studies/Social
Science) as filled by the candidates in their online application form.

7. Part-IV contains 30 questions for Language—I and Part-V contains 30

questions for Language-ll. In this Test Booklet, only questions
pertaining fo English and Hindi Language have been given. In case
the language(s) you have opted for as Language-I andlor
Language-ll is a language other than English or Hindi, please ask
for a Supplement (Language) Test Booklet of L. Code that
contains questions on that language. The languages being
answered must tally with the languages opted for in your
Application Form. No change in languages is allowed.

" Candidates are required to attempt questions in Language-li

(Part-V) in a language other than the one chosen as Language-|
(Part-1V) from the list of languages.
Rough work should be done only in the space provided in the Test

Booklet for the same.
The answers are to be recorded on the OMR Answer Sheet only. Mark

your responses carefully. No whitener is allowed for changing answers.
In case of any discrepancy in the English and Hindi versions of
guestions/answers, English version will be taken as final.
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PART—I / HrT—I 3. Which of the f0|10w1ng factor is not proposed by Jean Piaget as affecting change 1n cognition?

(1) Activity
CHILD DEVELOPMENT AND PEDAGOGY / = 1) T g ﬁmﬂﬂllﬁ (2) Biological maturation

(3) Cultural tools
Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most (4) Equilibration
appropriate options. e Frefafas 8 A Dm-m1 Fow = foe 30 T 57 § 9iadd @ 3 wen 3 83 7@ e
fAder . fAaffad weAl (W99 Fo 1 30)#@?%%@«'@/@@%@1 (1) Tffafis
| ~H2) Sifereh wftera
1. Academic peTfonnance and intellectual abilities gradually improve in children who leave J/{B] Wﬁﬁm
deprived settings and enter enriched settings. The above argument points primarily towards ;
which of the following debates of development? (4) AT
(1) Continuity versus Discontinuity 4 Read (the fallae
(2) Entity versus Incremental I e 2 B L

(3) \Heredity versus:Environment | Assertion (A) : Jean Piaget assumed that the process of learning is dependent solely on
-? r en

' ve | heredity.
(4) Differentiation versus Integration l

| Reason (R) : Development is a result of interaction between heredity and environment.

Rﬁﬁm&ﬁ%ﬁaﬂ?#ﬁa‘@amaﬂﬂ*ﬂi-zﬂigwm%,sﬁaﬁavﬁémaﬁzﬁmmqﬁ%mﬁ | Choose the correct option.

Y99 Fd & | S9Em a5 Jed ¥ ¥ fawm ) Fafafes # 9 g 959 6 3k s @ 27 | (1) Both (A) and (R) are true and (R):is the correct explanation of (A).
(1) T 59w EEE = B | (2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
L:J' :

2) R =™ e (3) (A) is true but (R) is false.
/(3) ST G TR | (4) Both (A) and (R) are false.

(4) Toudeo 59 fr=fefaa FuEt &1 gfet h
TR (A) 7 R Y T e e fwfEn o ar srgatwa 7R R
2

. Read the following statements : _ | RO (R) . fom A i Tafa & &= IRt A 1 O 2
Assertion (A) : When we look at childhood as a single category, we lose out on the social

; ) . s | T8 faFew =1 999 HifST|

and cultural differences between childr th ds t der, ethnicity,

social class. | S S 6 o L /1) (A) 3R (R) 25t 7@ & 71 (A) F (R) FE A FA 2
Reason (R) : Childhood is a social construction. (2) (A) 3 (R) a1 98 ® @A (A) F (R) TE =T TE d

Choose the correct option. | (3) (A) F& ? S (R)W%l
(1) Both (A) and (R) are true and (R) is the correct explanation of (A). | (4) (A) ¥ (R) 3t e R

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A). l
(3) (A) is true but (R) is false.

5. According to Jean Piaget, when children-cannot handle new experience within their exasting
(4) Both (A) and (R) are false.

| cognitive structures, they experience and resort to
- o | (1) disequilibrium; adaptation
T Fe 1 9ieT - l (2) disequilibrium; internalization
A= (A) : ¥2 75 9994 &1 UF B AV & ®U A 2@ £, 9 7Y Set, A, ais a1 F gay § a1 | - = tation
S : : | (3) dissonance; adap
ERCIE] m 3#(‘17[1—?"%% Hdq @ é% %' (4) dissonance; interna_lization
FRT (R) : F999 UF GIEIfeF 9FcqT | . wwﬁwjﬁﬁwwmmﬁﬁmma@aﬁﬁmmﬁa
el faseq &1 577 Fifam : IE T § 3K ! TEW A & |
A1) (A) 3R (R) 21 ¢ £ 791 (A) F1 (R) 981 re F1 £ A1) IGT; FTET
(2) (A) 3R (R) 31 98 £ % (A) F1 (R) 98 =Frem 78 # & (2) TEIEH; ATARHDHT!
(3) (A) & & AfF (R) Ted & (3) mﬁw
(4) (A) 3 (R) 2Ft 7o &) (4) A, STAREHT!
' PT.O.
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6. While Piaget views children as ____, Vygotsky views children as
(1) active in manipulating ideas; passive 1n social contexts
(2) active in manipulating ideas; active in social contexts
(3) passive in manipulating ideas; active in social contexts
(4) passive in manipulating ideas: passive-in social contexts

aﬁﬁaﬁaﬁﬁ__%@ﬂ%*aﬁamﬁﬁﬁﬁh_%ﬁﬁﬁl

(1) ﬁmﬁ%vﬁﬂmw%mﬂ;ﬁwﬁamﬁﬁﬁﬁmmﬁ%wﬁ
/2) W%mmw%wﬂ;mw-ﬂ-mmémﬁ

(3) ﬁaﬁ%ﬁf@m%ﬁmw#mﬂ;wﬁﬁaﬁaﬁﬁqﬁﬂw%wﬁ
(4) ﬁﬂﬁ%ﬁrﬁéﬁ%@aﬁf%‘ﬂﬁ;mﬁﬁﬁﬁﬁﬁmw#mﬁ

7. What is/are the basis/bases for
Kohlberg’s theory?

(A) Age of the individual
(B) Answer given by the individual-——for/agajnst stealing
(C) Reasoning underlying the individual’s response

determining the stage of moral development in Lawrence

Choose the correct option.
(1) Only (B)

(2) (A) and (C)

(3) (A) and (B)

(4) (B) and (C)

(B) =a1eh 271 o 1 Se—t % v 3 /foaw § -
(C) =T F1 e F siafifea ad
H‘s‘rﬁwawaﬁﬁq,
(1) %= (B)
(2) (A) 37 ()
(3) (A) 3R (B)

/(4) (B) 3 (C)

8. According to Lev Vygotsky, the essence of cognitive development is—
(1) mastering the use of psychological tools:
(2) learning to adapt to the environment.—
(3) identifying how to respond to cognitive-conflict.
(4) organizing schemes into coherent wholes.
N AN} & TR, FFEEE FEE & o =
(1) Hﬁ%wﬁawwvﬁ%mﬁwaﬁﬁam:
(2) THa F SgFa e drEan
(3) WIMTHF 53 W Wfihear #1 ge=m g
/4) A ) e Fgvh § g )
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play(s) an essential role in helping learners’ progress
through the zone of proximal development

9. According to Lev Vygotsky,

(1) physical environment

(2) more knowledgeable others

(3) maturation

(4) positive reinforcement

N AR % srEw, Frefiia A, e faww % mom A, R A wm e A F S
iHeRT 2 |

(1) shfde qafEy

(2) i4F IR 3=

(3) wRTEa

/(4) SEAMRIED @aﬂw

10. Howard Gardner proposed that intelligence

(1) can be differentiated into multiple kinds.

(2) is influenced only by genetics and not by environmental factors

(3) 1s dominantly about recall and memoﬁzatjon.
(4) is primarily about emotional learning..
giard T 3 e fan £ o o

/il) ) AT -3 THR § farisa 6 s Hdndl?l—_
(2) Fee AR & WA Ef R, AT FRA A A
(3) YHE &9 & I@ FA 3R @A & IR A el 2
(4) Y= €9 A TEATHS AeTH F AN H Bl 2

11. What is progressive education? |
(1) An approach to education that emphasizes discipline and rote memorization.

TT% " " “ [ - = t d
(2) An approach to education that emphasizes individualized learning and student-centere

classrooms. (& b A3 dhoR i=
(3) A method of teaching that emphasizes: strict adherence to standard cu _

g . , L
(4) A method of teaching that emphasizes maximum Uuse of technology and multimedia in the

classroom.

yrfaefiel fen <= 87 |

(1) ﬁﬁéﬁwﬁi@qﬁaﬁmﬁha@wﬁn@n@m@ﬂﬁm%l
A2) R ¥ ufa w gfeeno, St At e 3R BTA-HT2d HENA W AR a1 2

(3) ﬁm?ﬁ@ﬁfﬁ,ﬁmmﬁaﬂf%wwma‘ﬁ?ﬁ%l ]
A4) ﬁmm@aﬁm,ﬁmmﬁwmnﬁﬁ%m%ﬁwmmww |

5 | P.T.O.
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12. Read the following statements

Girls in middle school might often be silent and non-participative in
classroom discussions.

Given their genetic makeup girls are not competent to comprehend and
cope up with the challenging curriculum in middle schools.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

Assertion (A) :

Reason (R)

FiwuT (A) - ;ﬂﬂﬁmﬁawﬁagﬁ?ﬁmgqméaﬁtmwﬁﬁhﬂﬁﬂﬁm-wﬂmﬂﬁm
|
IO (R)  : HFANIS IR H @A §U Sl At e § gl wersat @ gnen i 3ue
/T F4 | g&m T8 § '

el fawew 71 =31 Fifs

(1) (A) 3 (R) 21 €& & a1 (A) 1 (R) T8 =167 $@1 2|

(2) (A) 3R (R) 2 98 § & (A) 1 (R) 98 =are 98 #¢@ 2

(3) (A) B8 & A (R) Tod 2|
A4) (A) 3R (R) 3H1 7Te@ B

13. The nature of assessment should be _ and assessment tasks should be Nl

(1) dynamic; authentic (2)-objective; standardized

(3) dynamic; standardized (4) objective; authentic

qedT94 31 TFia T T1feT IR gt . B =R

A1) Tfestis: s (2)_ F=8; FHFF
(3) Ticele; FSiFa ~(4) -3=gE; s

14. Read the following statements - =
Assertion (A) : It is advisable not to rely on standardized tests while conducting

assessment for learning.

In critenia-referenced testing, scores are compared to a set performance

standard.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Boﬂj (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

Reason (R)

RO (R)  : T#9-Hefifd ghigm 4§ g oi#) 61 gom o fuiid wee ame | £ 9 2
Hel fageq 1 =997 Fifau| |
1) (A) 3% (R) 21 ## £ 741 (A) %) (R) 9¢1 =7 = 2

(2) (A) 3 (R) 31 8E € AfF4 (A) F7 (R) 921 e 78 F0 2

(3) (A) @&l 2 dfFA (R) Ted &

(4) (A) 3R (R) 31 777 |

DET-24-11 (L) ;

: . . Lo
ytical <lkills in students

15. Which of the following is an example of a question that promotes anal

(1) What is the definition of a mammal?
(2) Explain the key characteristics of mammals.
(3) How have mammals adapted to their enyironments?

extbook
(4) Tell a few examples and a few non-examples of mammals given in the 1exXtboo

SR QR B
frefrRad & @ FH-T1 vh Y 7oA F R R, A oE § faveress e 1 el <

(1) T w9 i gfteqmn 1 27
(2) TAUTE! % W@ @E 1 same i)
A3) wIE A T F AET F AT FH FATEAA 1 R

(4) IR § R T wHITE % FS IS a1 FB IR AdE

16. Read the following statements : |
Assertion (A) : An inclusive classroom does not offer differentia

Inclusion is a policy that stresses equal opportunities
learning goals, strategies and assessment methods

ted instruction
by providing same

Reason (R)

Choose the correct option.

(1) Both (A) and (R) are truc and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) 1s nof the correct explanation of (A).

(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

frefafaa wul & afeu :
forweA (A) @mﬂ&ﬂmm%ﬁﬁaﬁﬁnwwwﬁHﬁ%l
:wﬁm&ﬁﬁ%,ﬁwﬁ%ﬁ%a@,ﬁﬁn@mﬁﬁmaﬁmﬁw

R
PR e T SR 3l R

ad) faepeq &1 994 T
A1) () 3 (R) R AR (A) H (R) ¥ =amea Fa R

(2) (Alamlme"ﬂaﬁ%@rﬁmmmmmmqﬁm%.

3) (A) F@ A (R) T &
(@) (A) 3 (R) 31 e &

DET-24-11 (L)
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17. Use of people-first language such as using the description ‘students with a learning disability 20. In order to address the needs of talented and creative children in the classroom, 1t !
instead of ‘learning-disabled students’'— important to—
s away mphasis fro ISE e in the true spirit of inclusion, - 2. _ Ll
(1) takes away the emp from disabilities and is not In P (1) keep them engaged and interested in the learning process

(2) 1s In consonance with the human rights approach to inclusion.

(3) illustrates the emphasis on medical model of disability

(4) i1s a hindrance in correct identification and labelling of people with disabilities
Sfeh-NeH M9 1 I SR 7 "S- aram ol & wemg Cwfom sima 9 o’ ¥ g 5 S0 F
(1) S&m 8 SR & < @ 3R TuEeE 6 = v § wd T8 2

(2) provide them with detailed and explicif-instructions
(3) ensure that they receive higher grades.than their peers

(4) give primacy to their cognitive requirements over emotional needs

heTT H ST 39 terrenes =11 ) STEwt T T o HEE o

/IQJ THIEYH & FHETUSR g % 3TTEY R | }\(l] 3 Hian & ufk 1 ored @ o I fem=eh g @ |
(3) 3&Hal & fofece= died W Wk Rama 2 (2) 3¢ ferga 3 wop sy wem =+ |
(4) H&H T F| Fel TTEE 3R Afiwor 3§ qmys 2 (3) FHied X 6 3 2o wfer) = qern | 3= U2 U |

- WD A : . _. : 4) ATEATCHS AEHAT] o a0 37! TAATHF AETEFAIAT Fl I 2 |
18. E}mplgs of assistive technological devices to cater to needs of children with visual /{ )
difficulties include—

(A) alternative computer input devices. 21. Teachers should deal with failure of students in the classrooms—
(B) braille embosser and displays. (1) by critically examining their own pedagogical strategies
(C) speech recognition software (speech to text). | (2) by correcting and overcorrecting the students who have failed.
= ez mnRunge (3) by administering standardized IQ tests-to failed students to assess intelligence
D e JcameCt option, (4) by identifying the caste of the students-and telling parents to provide additional support
(1) Only (A), (B) and (C) (2) Only (B), (C) and (D) at home, >
SR atyBlanc HC) (3) (A), (B), (C) and (D) Fanall § B 4 sEEad A Rt F R e =t
giEaTYE &=l % SEKal )l QU FH & o0 G5 aHA151 Y1 5 I § 141 I 37 | /(i') Ao g2 ) N wHEE B ST e FF
(A) WWWW i (2) T BE I QU 3R STAfUE GIRE
(B) ¥¢1 T=i 3R Yeis | m%mwﬁ%mqgcﬁ?d qia qfiaqoT 1 9T Fh
(C) 3% Fe9 FFa (Y197 | U13) ) YR A & eI et
(D) Hisia= 9161 =1 ¥4 (4)@ﬁ’iﬁmﬁzﬁﬂﬁﬂmﬁﬁmw—ﬁmaﬁmmaﬁﬁ?ﬁwmm- [TT, ShEht
i %*ﬂ 7] 999 S0 | 22. What is the role of prior knowledge in constructivist learning?
/(1) ¥ad (A), (B) 3 (C) (2) #34 (B), (C) R (D) (1) Prior knowledge can hinder the learning process since children come to school with a lot
(3) #a4 (B) =i (C) (4) (A), (B), (C) ¥R (D) : of misconceptions.

(2) Prior knowledge is important for building connections and facilitating new learning

(3) Prior knowledge is only important for advanced learners who are already familiar wath the

topic.

19. To support inclusion of students with autism, it is advisable to—
(1) avoid giving visual support and visual cues.

(2) create a classroom setting that is overstimulating. ers who have high levels of Intrinsic

knowledge is only important '__fpr learn

(3) form an unstructured setup with random routines. ) :lﬁvation-

(4) use concrete, literal and consistent language. , Eﬁwﬁqﬁmﬁww%? I

Qo a1 faenfdd = gueys =1 9947 #:6 % T, T8 29gs 941 o Jmmﬁmﬁmmmmgm‘ﬁa@mwﬁfﬁ%maqam%u
(1) S¥9-wad ¥ 2R F%d 23 & 9991 T ) T S R T F Eichiacruld

(2) & 1 SaERY WA S =F1ien = faenfdg # fou sfa-3ues A i A2) ST aﬂwﬂ?ﬁ@?ﬁfﬂ%ﬁﬂﬁﬁwﬁwﬁﬁﬁ%

(3) efeas fea=ai 1 yam =7d 7y ve g=gafiyd fagm 1 @ w0 Tz ' (3) ﬁwmmﬁwﬁémm ) TR RN 2|
) 3, Wfeew 3N Gaa s =1 yEm #2911 | (4) ﬁmmmﬁmﬁﬁ*%ﬂ LEEES T

| [ P.T.O.
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23. How can teachers support students in becoming self-directed learners in a constructivist

classroom?
(1) By providing frequent feedback and grades to motivate students to outperform each other
(¢) By setting explicit goals and objectives' for all learning tasks

(3) By encouraging students to take responsibility for their own learning and develop
self-regulation skills

(4) By prowviding detailed and prescriptive “instructions for all learning tasks

@mmﬁaanﬁﬁ?mmﬂaﬁﬁ-ﬁ%ﬁmﬁmﬁﬁﬁﬁmmmﬁ?

(1) mﬁﬁﬁ-{ﬂiﬁﬁﬂﬂﬁ?@%@ﬁ%ﬂﬂ%ﬁ%ﬁmmuﬁﬁaﬁtﬂgmm

(2) h e F = ¥ Rore we Wt i e 2 B

A3) BT 1 IR T F W A Rt 33 st 5P e frea 53 3 R e w0

(4) e S w S fore foega e s fidn wem =
24. Read the following statements -

Assertion (A) : A middle school teacher keeps in regular touch with the parents of students
of her class to understand them better.

Reason (R) : Communities should direct-how and what the children should learn.
Choose the correct option. ——

(1) Both (A) and (R) are true and (R) is th
(2) Both (A) and (R) are true but (R) is
(3) (A) is true but (R) is false. 3

(4) Both (A) and (R) are false. 5 i
fH=TeTien F21 &1 9 -

AvwET (A) - % Oretae faamem 4 e ﬂﬂ%éﬁméﬁmﬁaﬁméﬂﬁm%mmqm-ﬁm
% |1y Fafid 99 & @ 2

: WRHEl F 98 e == =il 5 5= = &2 R 71 HE@a 91t
el e 1 997 Fifu |
(1) (A)am(n;é‘ﬁraﬁi%ammaa(maﬁmm%:
(2) (4) 3 (R) 21 =& & A (A) 1 (R) 98 =@ 75 = 2
MB) () T & FfF (R) a3
(4) (A) 3 (R) ZF1 Tera £ |
25. In order to advance problem-solving skills af'imers, teachers s
should promote thinking among learners.
(1) belief perseverance; reciprocal
(2) functional fixedness; divergent

(3) means-end analysis; convergent
(4) verbalization: analogical

ﬁmﬁm-mmmﬁaﬁdﬁﬂm&%mﬁmﬁmﬁm . 3
ﬂa____ﬁa?ﬁam%maﬁ%m 1 =1fen 2y franfefat %
A1) ﬁ:mam;m

(2) _ﬂmm, 99

(3) B1YA-37q faveavr; afiar

(4) fEwaw; Brevares

DET-24-11 (L)

:::__':torrect explanation of (A).
not the correct explanation of (A).

FR (R)

hould encourage

10

‘

20.

In discovery learning, students—

(1)

derive information for themselves through exploration and manipulation of ideas
(2) consistently m

. ¥ = ulation of
_ ake new discoveries in the world through exploration and manip
1deas,

(3) derive information for themselves through rehearsal and extended practice
(4) make new discoveries in the world through rehearsal and extended practice

=T FRpm 1§ g

(Uﬁﬂﬁiﬁ@aﬁn%mﬂ%mmﬁm%faqmmmmﬁr
(2) ﬁ?ﬁﬁ@aaﬂtﬁmﬁmmﬁgﬁmﬁmﬁﬁmmﬁl
/(/3) a3 R I % ATAY A 39 foq0_ SR UTH e |

(4) gEi=m SN foremfta srema % memm & 7R 78 @ w0 3

27. Realizing that he is not paying attention in the science class and hence he is unable to
understand the concepts, Ramesh decides to sit at the front so that he can focus attention
better. Which learning strategy i1s Ramesh using?

(1) Rehearsal
(2) Metacognition §.3
(3) Scaffolding F =

(4) Mnemonics =
| T8 WegH Hd ¢ % 8 oy wen § om T 2w i 3o 97 duem ) wwe A arEmed 2, i wan 3
J uaﬁHﬁﬁaﬁmmm%mﬁsaﬁm%ﬁﬁIMMﬁ'mmﬁmmﬂmm%?

(1) 2= =

(3) 3T

(4) Hia-wers faftmi

28. Which of the following statements about emotions is correct in context of cognition?
| (1) Emotions facilitate encoding but have no impact on attention.

f (2) Emotions help in efficient retrieval of information but do not influence motivation to
learn.

| (3) Emotions modulate various aspects of cognition, however, degree and direction of effect
| depend on a range of factors.

4) Impact of emotions on learning o always univalent and has a positive effect only
irrespective of the nature of emotion. —

A & wed A wEst % an & frafafes @ 4 fF-m o v 7
(1) AT FeerE /TR H i F) g w2, I T wE R whEm w R e @ g 2
| (2) e ST ) G G A R el A e F for sl €1 wwfw w8 w
(3) v W ¥ faft weqel A Ffa e E, wefh o wm A wen oi fan g @ s w Aok

£ el )
74) arftrm W rEAISH 1 9N ER TRt B R i R i wER v @), e st @ Fae
[T UNTE e )
DET-24-11 (L) 11 [EE-TIO.
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29. How can teachers increase intrinsic motivation in the students?
(1) By giving Temoval punishment’
(2) By giving ‘negative reinforcement’
(3) By offering Trewards and prizes’
(4) By inculcating oy of Iearning’
Rreres o7 3 SR IO & T T 37
(1) e 591 = '2R T TOhE o9

(2) TERES GFETH <9
(3) TW IR FEFR
A4) € = SR

30. Which of the following statements correctly describes the relationship between intrinsic and
extrinsic motivation?

(1) Intrinsic motivation and extrinsic rnoﬁtf;ét_tion are mutually exclusive; individuals cannot
be motivated by both at the same time.

(2) Intrinsic motivation can impact extrinsic motivation, but extrinsic motivation cannot
1mpact intrinsic motivation in any peossible manner.

(3) Intrinsic and extrinsic motivations can both impact an individual’s behaviour, but they
operate independently of each other.

(4) Intrinsic and extrinsic motivations can interact with each other in complex ways, with one
type of motivation affecting the other.

frafafaa 3 3 359-31 393 Fdie v 9™ ﬂﬁﬁ?ﬂﬂ%aﬁﬁ?ﬁ"l'ﬂﬂﬁaﬂhm%?

(1) aﬂzmmmaﬁmmmi A4l # % @ 99 4 39 ¥ afnfia T8 B s
el 2|

(2) mﬁmaﬁuma@ﬁwﬁwﬁaaﬂﬂﬁ?ﬁ% i a1 Afagon e o darfam q6% @ st
HIIoN %1 yu1faE 7E FA FFA1 £ -

( :ﬁ@@;mﬁwﬁmﬁﬁ@wﬁ%waﬁnmﬁamm%,ﬁ%éw-@@aﬁamﬂ
Tl ¢ |

) A iR @@ AfRond TH-gE F |9g 9RE a0% ¥ ia-a # gwd
%@ﬁﬂmaﬂ?ﬁ%l &, o v gam 6 srfyon

DET-24-11 (L) 12

IMPORTANT / Wequi

Candidates have to do Question Nos. 31 to 90 Either from Part—II (Mathematics and
Science) Or from Part—I[] (Social Studies/Social Science)

Qe Y S W 31 ¥ 90 A1 At WMLI] (it @ FEH) A MT—II (AT S /AT
fFH) 8 3 2

PART—II / wrm—II
MATHEMATICS AND SCIENCE / T & fasma

Direction : Answer the following questions by selecting the correct/most appropriate
options.

fager : Fefafaa st & 3w 33 % fom vt /7=) 3ugs faFen i)

0.-125x57-8 x0-729 .

31. The value of i1s equal to
0:017x0-0081x0-25
(1) 153 (2) 1530 | (3) 15300 (4) 153000
0:-125x57:-8x0-729 T 3
0-017x0-0081x%x0:25
(1) 153 (2) 1530 (3) 15300 (4) 153000
32. If LCM of two numbers is 392, then which of the following cannot be the HCF of these
numbers?
(1) 28 (2) 42 : (3) 56 (4) 196
IR @ TEmalt %1 LCM 392 2, @ fr= & @ #19-9 @em 3 w@nad F1 HCF F@1 8 §hdl 27
(1) 28 (2) 42 (3) 56 (4) 196
33. What is the smallest positive integer which is not a factor of the product 264 x90 %1680 ?
(19512 (2) 13 ' (3) 14 (4) 15
a7 AR YA TR 1 B, N TUHEEA 264 x90 x 1680 F1 T @S TE 27
(1) 12 (2) 13 (3) 14 (4) 15

SPACE FOR ROUGH WORK / T% ®Td & foTe WTe
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7. One of 2 -
34. If A and B represent digits and 3 ne ol the factors of 81x* —~126xy+49y? - (5x +3y)? is

ABA Rl Lol (2) 2x+3y (3) 7x -2y (4) S5x-7Yy
%
3 2
44B0 SR *126)‘9*49y2-[5x+3y)2%W@ﬁﬂwqﬂm%
then which of the following is true? (1) 7x+2y (2) 2x +5y (3) 7x-2y (4) 5x-Ty
(1) A=4, B=2 (2) A=9, B=8
B=9 38. If 7x-1-l[2x-1"x) 4 the hat is the val fo—:s,p
A D = = Q 1 Trv il b n what 18 e value o :
(3) A=2 B=4 (4) A =8, 4 7 2 31— 1
iz A 3R B =i = iy Fd § a9 Gl ) & L (s
2 S 8
ABA
x 5 qﬁ7x-1 1(2 l—x] 9x -3
—— | LZX—-——— | =4 Fﬁ [
44B0 | Aol 8, 3x_1$‘m"?’“?
|
(1) A=4, B=2 (2) A=9, B=8 |
(3) A=2, B=4 _: j (@) A=8, B -9 39. A person sold two articles A and B for ¥ 348 each. He earned a profit of 20% on A and
o3 suffered a loss of 13% on B. His profit (in ¥) in the entire transaction i1s
35. If x is the smallest number which 1s to bé_-sﬁbtracted from 7751 to make it a perfect square, | (1) 6 (2) 7 (3) 9 (4) 12
; f -5) 1 —
enhepRloeiofiSx = o) 18 — TF ANF A 3 TGN A 3 B A T2F F T 348 T AGN| T A T I 20% AN 741 I BT 13% T
(1) 7 (2) 10 -~ (3) 13 (4) 16 | & R oA 8 W foran @ (T F) ww gan?
~ . = . l (1) 6 (2) 7 (3) 9 4) 12
mxﬁﬂﬂmmﬁﬁf@7751ﬁﬁwﬁma‘3@duq-{ﬂlnl%,?ﬁ(Sx—S)Hﬁﬂ% | ) ) &)
(1) 7 (2) 10 (3) 13 (4) 16 | 40. A sum of T 16,000 amounts to T x in 2% years at 15% p.a., interest compounded yearly
| What is the value of x?
| (1) 21,160 (2) 21,488 (3) 22,218 4) 22,360

36. In the expression (5x —31)(6x + 5y — (3x + 7Y (4x — SY), what is the coefficient of xy? |

(1) -6 (2) 9 (3) -11 (4) 13 ' Tlﬁ,OOOﬁ@WﬁTQ%HﬁﬁIS%HTﬁaﬁz{@lfx@Efﬁﬁ%,aﬁmaﬁEﬁrﬁﬁ%lxmm
‘
7 co i
S5 (5 — 31 (6. + 51 — (3x + Ty (4x — 51) B-xy H1 o5 F41 87
(5x—3y(6x+5Y — (3x + 7Y (dx — Y Iy UG ! (1) 21,160 (2) 21,488 (3) 22,218 (4) 22,360
(1) -6 (2) 9 i) R(3)FE=11 (4) 13 |
— = - SPACE FOR ROUGH WORK / 1% ®Td & fore wme
SPACE FOR ROUGH WORK / T% *1 & foru o |
DET-24-11 (L) 15 [ P.T.O.
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41. The difference of two complementary angles is 40°. If smaller of these angles 1s y, then

value of 2y+1357) 1S

[]) 45f {:! F‘D“ ‘3) 55n (,_1] 651"-

(1) 45° (2) S0° (3)1"S52 (4) 65°

42. Which of the following figures do not have-equal number of lines of symmetry?
(1) Isosceles triangle and kite (2) Kite and parallelogram

(3) Rectangle and rhombus (4) Kite and isosceles trapezium

o s 3 2 e i Yol ) e T A
(1) SeieaTg s 3 qam (2) TEm ST FHIE TgHS

(3) 3rEa 3R FHE :_{.;l—)_"q?iﬂaﬂ'{ﬂﬂﬁﬁ@w

the

43. Sis a point on side QR of a triangle POR such that PS1 OR and PS is the bisector of ZOPR.

Then. which of the following statements is true?

(1) APQS=APSR, by RHS (2) APQS = APRS, by ASA

(3) APQS =APSR, by ASA (4) APQS = APRS, by RHS

fordi Bgs POR #1 1 QR W St g 3@ UFR a2 1F PS | QR & ¥ PS, / QPR %1 SH{ZITES 8| 7,

P T8 599-9] $94 99 &7
(1) APQS =APSR, RHS &M (2) APQS = APRS, ASA 3

(3) APQS =APSR, ASA & (4) APQS = APRS, RHS &I

—

SPACE FOR ROUGH WORK / T% T4 & fcTu WTe
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44. Which of the following can be the length of the third side of a triangle whose two sides are of

lengths 19 cm and 15 ¢cm?

(1) 3 cm (2) 4 cm (3) 33 cm 4) 34 cm
Ei= i W—Iﬂzﬂﬁiﬁ &1 =i sl £ s B Tl &, SEd gl W"ﬂ £ =g 19 cm A 15 cm 27

(1) 3 cm (2) 4 cm

(3) 33 cm (4) 34 cm

45. In a quadrilateral ABCD, angles A, B, C and D are respectively (3x - 10°), (x +30°), (2x+307)
and (2x -10°). Then, this quadrilateral 15 a

(1) trapezium (2) parallelogram

(3) kite (4) rectangle

forel =S ABCD % &0 A, B, C 3 D %HY: (3x—10°), (x +30°), (2x+307) A (2x —10°) 8] &, TR
g ® TH

(1) &AcH (2) WA TP

(3) Tam (4) ATE

46. The area of a triangle of sides 24 cm, 45 cm and S1 cm 1s equal to the area of a rectangle of
length 45 cm. Then, the perimeter of the rectangle 1s

(1) 55 cm (2) 57 cm (3) 110 cm (4) 114 cm

S 24 cm, 45 cm A 51 cm = TH P AL FIFE, 45 cm AT AT U STEd & AFhd o6 e ¢ |
a4, 39 3 1 T 2 |

(1) 5SS cm (2) S7 cm (3) 110 cm (4) 114 cm

47. From a circular sheet of diameter 16 cm, a circle of radius 6 cm is removed. Then, the area
2

(in cm?) of the remaining sheet is (use =%

(2) 88 (3) 66 (4) 44

(1) 176

.

16 o =4TE dTe U I e d 6 o B T I 12 o 9 2| 7|, T e F AEED (em q)
%(n:%ﬂWW)

(1) 176 (3) 66

(2) 88 (4) 44

SPACE FOR ROUGH WORK / 1™ 14 & o FTR
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51. A student was : :
as asked to find the value of x in x -4 = 3. He completed the task by subtracting

48. A metalhcl solid cuboidal box of dimensions 200 cm x50 cm x 100 cm 1s mr?ll,cd and recast 4 from 3. Which of the followin . . “hes the "
into a solid cube. The difference between the surface areas of the two solids 1s g most appropriately describes the above situations
(1) 25000 cm (2) 20000 cm 2 (3) 15000 cm* (4) 10000 cm* (1) The student has solved the problem correctly
IS ¥ U& 31§ GAMIHR H(e4, S 91 200 em x50 cm x 100 cm 2. o RuaE w 3 oA ¥ &9 7 (2) The student has made an algorithm-based error
2T 1 &1 < SNl % T8 B 1 ST R (3) The student should memorize all the rulés of transposition
(1) 25000 cm* (2) 20000 cm? (3) 15000 cm* (4) 10000 cm* () ARG et s i TR )
: ean of observations ‘ ' — and
e ?Si: 53. The median of tffzsztn S e R 20 ? ;;'m j?i ; ‘%%%EQT%T@T ?;hm W;m ;?z;ﬁ 4 F 3 ¥ v qu fRan | Frefafad A
(1) S3 (2) 54 (3) 55 (4) 56 H 399t Tdl B
TOE 9 T saateyd Y&V 42, 48, x +15, x+17, x+20, 58 3R 60 F WA 53 8| 9 aATFS) F1 HH ¢ (1), 1RENf19 Sremn i o 3 et o A
(1) 53 (2) 54 3) 55 4) 56 (2) faeneff 3 v Ferfafy-amafa 72 6 2

(3) Toremeff =1 TymTaw & ot fam 9 @ =ik
(4) 39 YHR I HEATA F 7l FH 6 [0 3 H a6

50. The time spent by a student during a day in different activities is represented by sectors of |

central angles in a pie chart as given below :

School—90°
Homework—60°
Play—60° 52. Which of the following mathematical statements is not true?
Sleep—120° :
Others—30° (1) The number of factors of a given number is finite
; . . - . L LIAL ¢ 1 ) -
}:Cl;a;olli the difference between the time spent by the student in the activities SI€EP and ‘ (2) Every factor of a given aumber is less #Han or equal to the e nmber
(1) 1% hours (2) 2 hours (3) 3 hours (4) 4 hours | (3) Every factor of a given number is aleays greater than the given number
T 7= wm T g0 fafvm framehendl 3 = fpu e FHY ) T T8 96 A A" KT Fdm Fil & P (4) Every multiple of a given number is greater than or equal to that number
FE—90° | frferfaa & A FH-11 O FoE T T 87
TeFR—60° (1) T 2 g T & PHES! Sl HEA gftfid ardl ®
@o—bH0°
He—120° (2)@ﬁ§§éwmmmmwm%m.mmwﬁm%
HF4—30° . : : '
. - 32 2 . (S)Wﬁgmmmwmwmﬁwﬁm%
‘m’m‘@a’wnﬁaﬁﬂmaﬁammmwmm%? | e = IR
£ =~ - , A g2 9= Fl 30 g1 | 281 9138 U=
(1) 11 & (2) 2 @2 (3) 3 32 @) 4 @ (4) A & A U .
SPACE FOR ROUGH WORK / T% M o e Fe

SPACE FOR ROUGH WORK / 1% &1 & foru w1mre
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Jiito ‘ntroduce experimental probability tq

53. Which of the following is the most appropriate wa 55. Which of the following is a closed-ended problem?

8th graders? | IR ; -
. . omes : =

(1) Tossing a fair coin several times and nolng down the outcomes | 1st Iour rational numbers between = srd -

(2)! Solving statistics-based problems (2) List four natural numbers between 104 and 109

ke tossIing a coin, drawing cards, etc. |

Ving ex les of many outcome-based events li : |
BDS e bt s s (3) Write four Integers less than 5

s 3 & l :
(4) Defining experimental probability on board.and gVing exampies

e 3 2 - 41 e 3 et ) s S 3 TR T F TR ST T 7 (4) Write four equivalent fractions for %
(1;@ﬁmhﬁlﬁﬁ%sﬁl<dwlmﬂlaﬂiﬂﬁmﬁaﬁ=ﬁzm/ Pt # 4 29 2= Ry = )
(2) FifEa=h-TuTid RS g HHI 5 4 10
(S]ﬁm—mﬂﬁmaﬁﬁ@ﬁmw,wﬁwmﬁﬂmﬁ (s i—lﬂaa"raaantﬁﬂﬂw ] g, Fi

- “-'a- éq-[ A - |
(4) <€ R WIS N Bl TR FH7A1 I (2) 104 3R 109 % =19 9R WiFd qEAT Gias, FrU

54. Which of the following represent the most appropriate reasons of assessment at upper (3) 5 QWWWW

primary stage? 5
(A) To identify individual and specific needs Df-_r_he learner (4) : % 91 g9 fig fafan
(B) To find out to what extent the aims and objectives of mathematics curricula have been

achieved 56. Which of the following is considered as -a characteristic of an ellective mathematics
(C) To find out whether students have learned a standard procedure to solve a problem | classroom?
(D) To select students for competitive exams 111 mathematics (1) Provide opportunities to the students-to solve similar problems as that solved by the
Choose the correct option. : teacher
(1) Only (A) and (C) (2) '_(A)_{ () and (D) | (2) Sensitize the students that mathematies-is an abstract subject with the help of different
(3) (A) and (B) (4) {B) and (D) | examples '
frofefas 3 @ F19-8 3= TuUfts T W J&eH & dad 39gh FRU H) I & | (3) Encourage individual problem-solving task rather than group work
(4) Teramdi %1 =ftema 3R fafire s F1 TETH (4) Provide opportunities to the students to solve problems in multiple ways
B) 77 31 S 7 T Teaedl ¥ wedi 3R 32 F | 3
= = = c: : = _;Eﬁm%mmﬂ% | ﬁmﬁmﬁﬁ%@@uw@ﬁaﬁamﬁ@ﬁmmﬁﬁwm%?
(C) 77 318 =41 & F1 faenfa 3 el a5e1 =1 2 9 % oy & s wishan di@ ot @ . € A - .

s | [1)ﬁmm?ﬁwﬁﬁﬁﬁmﬁ%,ﬁm%ﬁwmﬁmmmimmm

(D) TIora B Sfadress wanstt & o faeneg) #1 999 F =
2) ﬁ%wﬁﬁmﬁﬁﬁﬁﬁﬁﬁﬁmmﬁﬂﬁﬁq¢mwm%

(3) Wmﬁﬁmmm-wm#maﬁﬁmﬁ%ﬂm
agaaﬁﬁﬂﬁﬁﬁam%mﬁaﬁtﬁﬁmm

(1) %a= (&) ¥R (C) 2) [{A); (C) ¥R (D)
(3) (A) =R (B) (4) ((B) =% (D) (4) FEEa &)

SPACE FOR ROUGH WORK / T% #Td % fv e SPACE FOR ROUGH WORK / T% & ¥ foru e
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57. Which of the following should be followed while using questioning as a tool of assessment in L

e e i rhcth Jational Curriculum Framework (NCF), 2005 promotes a spiral approach for

T 3 e mathematics curriculum at middle school level. The best example of this approach i1s
sking questions only fro AZS. |
: (1) including dif it S
(2) Asking questions for assessing errors and misconceptions B different concepts at each-grade
A ; e (2) including toncepts that are repeated at each grade
Asking too many questions wi S
(4) Asking a question and answering it yourself (3) including simpler as well as difficulf concepts at every grade
i | | 4) includin | S
~ ) fafiRad d 8 fhge : [ B concepts in the increasing order of difficulty by briefly revisiting concepts
& FE 3 T @Y A MNEeH F UF G F &Y § S@m Fd T SERIGERERe) taught previously ‘
S
(1) =9 F4 " YW FA e § T B eI 1 FaMg Ieme 2
N ..
(2) FfeA iR Wit & e & e v & (1) 9% U3 W fafim smymonst =1 wite =6
3) To1 593 R WE g8l : _\
) S | (2) 31 FURUNST 1 Wit FE A w U W AR A
. I

[4) TF TR 3R Y IqHT IW AT | /A 3N FHfeq faugi =1 mite w6
(4) T= T¥1 gBH (3) WIS W i %! IHA

I
: ; | (4) W%Eﬁﬂﬁmuwaﬁﬁmﬁaﬁ-@%ﬁmﬁ-wwmaﬁmﬁmmﬂ‘ﬁdﬁmm
If (x+5)+7y is written as 5+(x+ 7y), then=which of the following property/properties of |

S8.
addition i1s/are being used? s _
= = 60. In which of the following statements, the_ number 6 is used in cardinal sense?
(1) Commutative == _
= (1) 6 1s the predecessor of 7
(2) Distributive — _
= = | (2) She was sitting in the 6th row of the auditorium
(3) Associative and distributive both S
- | (3) There are 6 elements in a set

(4) Commutative and associative both =
(4) 6 is the successor of 5

R (x+5)+ 7y F 5+(x+7y) F T fora 9w A F=fefan 4 4 4m F $9-3 /AT T I9Em |
fr= 4 | g Foa A 9@ 6 1 I UHEET F 39 ° fHa T e

T 2

(1) FAEEE3 (1) 7 1 qHadi 6

(2) @2 [ (2) 98 WIFR I 631 it 7 43t A
(3) |ESd AN 924 Tl | (3) TH U H 6 T &

(4) FHMEFEE AR AETd G ] y (4) 5 % Il 6 @

SPACE FOR ROUGH WORK / % #rd % feru wmrg | SPACE FOR ROUGH WORK / 1% &M & f&fu wme
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SPOREES . correct/most : _
Direction : Answer the following questions by selecing 2l “PPropriate

options.

fdar - P 1 3 23 % fory et/ g e G

—_— W

bottle. She puts her thumb over the hole to

1. A gir]l makes a hole near the bottom of a plastic -
6 gl pacity. She then closes the cap of the

cover it, fills the bottle with water up to halfijof its ca | S S
| ! | es her m > hole:
bottle tightly. What will happen when she-removes her tht

(1) The water will spurt out of the hole because the pressurc inside the bottle is less than the
outside pressure.

(2) The water will not spurt out of the hole-because the pressure inside the bottle is More

than the outside pressure

(3) The water will spurt out of the hole because the pressure inside the bottle is more than
the outside pressure.

(4) The water will not spurt out of the hole because the pressure inside the bottle is less than
the outside pressure.

T TSl 4 WIS F1 0F 9ad § 06 5 552 T 8¢ 1$41| 384 88 &) 56 5 & ot 39 | 37q 31

Iae &1 3991 a1 @ 3791 91 | 31 T 361 ainc T e Had a2 K [941| 1 €N S 98 379 3731 Ve

q 7

(1) 32 3 B 9 1 FeW G il diaei 5 ST EI<E 9T 6 d 7 B

(2) 82 2 9l |1E AE O HI Siaed 5 A = e 9T o d ATE B

(3) B | UHl F1 FEW I % aiaa % HT w8 9TE 29 § AF 2
(4) 8% ¥ Yl 9@ 781 YoM HIF dlac & A F] 9/ 9180 29 4 H9 ¢

62. Fill in the blanks :

Bakeliteisa A and it is used for making B . On the other hand, PVCisa C which
1s used for making D .

(1) A—thermosetting plastic; B—electrical switches; C—thermoplastic; D—containers

(2) A—thermosetting plastic; B—containers; C—thermoplastic; D—utensils

(3) A—thermoplastic; B—utensil handles> C—thermosetting plastic; D—electrical switches

(4) A—thermoplastic; B—electrical SWitéhéS; C—thermosetting plastic; D—containers
Tt w41 71 gfF Fifeo -

63. An oxide of a substance X reacts with water to produce another substance Y. ¥ reacts with

oxygen to form Z. It is observed that ¥ tutns blue litmus red. Which of the following can be
concluded about X, v and z?

(1) X 18
(2) X i1s
(3) X i1s

a metal, Y is acidic and Z is basic in nature
a metal, Y is basic and Z is acidié-in nature
4 non-metal, Y is acidic and Z is basic in nature

(4) X 1s a non-metal, Y is acidic and Z isvacidic in nature

TEIY X 1 UF SFAHATEE Tt Y AR F T A Y I A 2 Y sl & s F 2 = 2

Te N 6 T %y fren e ® w3 RLix, Y o 2% P § Srefi @ e S
S 9ahdl &7

(1) XTH YR, YIHa § avefig 3 Z amha 3
(2) XU vg e, YHd andy o Z aedig 2
(3) XTF AuTg &, Yyl # ar<hg afw Z g 2
(4) X TF A91q B, Y IFfa § el 3l Z sraim 2

64. Which of the following is likely to happen when chlorine gas is added to the solution of
sodium bromide?

(1) Sodium chloride is formed through displacement reaction
(2) Pure sodium is obtained through sublimation
(3) Sodium chloride is formed through decomposition

(4) No reaction will take place

fefafed A 8 70 81 A guEm R 99 Difemm dEEe S fGems 1@ F9iE e | e G s
(1) faxamm sfufeEn @ gifeay w6 mss <1 590

(2) FHEUEE A G GITSIH WH FH1

(3) 39ges g Aifsam Fmge F1

(4) =15 ffsean =& &rf

65. Which of the following statements about zones of a candle flame is not true?
(1) The non-luminous part of the flame is the zone of complete combustion.
(2) The temperature of middle zone and the non-luminous part of the flame is same.

(3) The yellow part of the flame is the region of partial combustion.

(4) The innermost zone does not support burning and comprises unburnt wax vapours
Areffad & | FH-T1 HuH AHaw ) SGTen & & e 7§ e T@

(1) ﬂ|ﬂ|¢|m}ﬁﬁ?mﬂ@ﬁﬁ%ﬂ%l |

(2) SETE % HYA A 1 AIHH SN AT W ] AEHH THE 2|

(3) mmtﬁwmlﬂmmﬂéﬂ%l
(4) TR 8 e 1 T T8 a3 3@ fa ST 7 6 9 e R

P.T.O.
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66. Which of the following ‘medium 1S |
flask and why?

(1) Air, because it prevents loss of heat due to conduction

(2) Steel, because it prevents loss of heat due to radiation and convection

(3) Vacuum, because it prevents loss of heat-due 10 conduction and convection

(4) Air, because it prevents loss of heat due to radiation and conduction

——————

resent between the 1nnet and outer layers of a thermg
-1Mos

Gmﬁﬁ.ﬁmmmq@%ﬂaﬁmﬁﬁﬁﬁﬁaﬂﬂ-m‘mmﬂ’m@ﬂﬁm%aﬂiﬁﬁ?

(1) aﬁ‘ﬁﬁwwiwﬁﬁmmﬁﬁaﬁﬁwﬁ%
(2) %,wﬁ%ﬁﬁmmﬁaﬁiwﬁmmﬁmﬁaﬁm%
(3) ﬁﬁa,ﬁ%mwﬁnm%mﬁﬁmﬁwaﬁaﬁﬁm%

(4) W,ﬁwﬁmmwﬁwﬁaﬁmﬁﬁﬁﬁﬂﬁ%

67. Bujho wants to set up a circuit for the purification of copper. Which of the
electrodes and solutions should he opt for?

(1) Anode—Impure copper; Cathode—Pure copper; Solution—Water
(2) Anode—Carbon; Cathode—Pure copper; Solution—Copper sulphate
(3) Anode—Impure copper; Cathode—Pure copper; Solution—Copper sulphate

(4) Anode—Pure copper; Cathode—Impure copper; Solution—Copper sulphate

following

39, e/ F Ry A F o @ v @ = 2 Fefife § A w8 e o sl feEA B

g1 =TE?

(1) THre—aEe atal/#9t; Fhe—I[g dfel/#w; fadaq—sa

(2) Te—FIE7; Fdre—3IJ¢ d1a1/F9; fTeT—Fia g%

(3) TAre—s3y[e dfa/Fi9; Fde—3[g dfa1/F9; HegT—aTw gk
(4) WHre—3pe dfa1/# T Fdre—asg dfan/#19; feas—aia gk

DET-2
4-11 (L) %

68. A ray of light enters two media X and Y having different optical densiti€s

|

given below and identify A, B, C and D

Mi'?fhu_m (_-‘hﬂ, HUQ in ‘T_*lpf?(:’.(j l")f (:hﬁ”fjf’ in ,.Jrf?fffﬂ?ﬂ.f“_u || l‘_/__‘hl".{ﬂ {-;-F_j Iry Lo i_.r:-.l'rffjr‘. J",II-".P-I!
light of light 'Il of light
. | i e
X Increases A I B
- 1 ——— e ——— —
Y 1 C | D | Decreases

(1) A—Increases; B—Decreases; C—Increases; D—Decreases

(2) A—No change; B—Decreases; C—Decreases; D—No change
(3) A—No change; B—Increases, C—Decreases; D—No change
(4) A—Decreases; B—No change; C—No change; D—Increases

dd1 D ! U= hIT :

HTETH YTl I 9T H | yemr # amgfa A \ g 1 avreedd 4|
X 37 2 2 18 A | B |
Y C . D \ T2l 2 i)

(1) A—3fe B }; B—aedi }; 36 T 3-p e ®

(2) A—rE gfad 7d; Bl 8, C—= 2 D13 TfEdd e

(3) A—=hTs TitadA Te; B—afg 7t &; C-—‘azﬁ—%'_;. D—7hr giEa e
(4) A—szd ¥, B—aS ufEdd e, S qfEd T, D3t At &

69. Fill in the blanks :

ead vegetation 1s converted to fossil fuel A at B

The process by which d
C temperature is called as D

(1) A—coal; B—high; C—low; D—oxidation
C—high; D—carbonization
P=oxidation

(2) A—petroleum; B—low;
(3) A—natural gas, B—high; C—high;

(4) A—coal; B—high; C—high; D—-—carboniz:ation

a%mﬁﬁmgaa:rwﬁ,mém A-figm B dMAwWH _C  qfEfEd & e g, @
D e 2|
c—f=; D—=STEE

(1) A—=Edl; B—%; __
2) A, B—H; O DRI
3) At e B O D ESINT
@) A—wren; B O DN
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hich of the followin

70. A sample of soil mixed with water turns the pH paper yellowish orange. W

would now change the colour of the pH paper to bluish? 73. The following

18 the weather chart of a City for different months. Which month will have the
(1) Milk of magnesia (2). Lemon juice highest rate of Cvaporation? “
(3) Vinegar (4). Common sal | Months Temperature (°C) Wind speed (m/s) Humidity (%)
W%Wﬁﬁaﬁaﬁ%mmﬁmwmﬁpraﬁdﬁﬂ-wﬁmﬂ%ml1'-?‘3{%5&6?3?} -7 a7 pH 1 (1) A 26 0-87 83:12
F1 T Fre = 2 (2) B 29 291 72:33
(1) e s i (2) dfq F @ (3) C 27 071 7550
(3) T (4)) WHR T9F ) D 26 0-82 7522
71. Which of the following would you choose for making a fuse wire? fepeft e F1, Tt g % fou, frafefae qEy 97 2| g w8 3 g R = I=Idq Brf?
Resistance Thickness Melting point HEHT dr9417 (°C) &dl &1 91T (m/s) HTzdT (%)
(1) High Thick Low | (1) A 26 0-87 8312
(2) High Thin Low (2) B 29 2:91 72:33
(3) Low Thin High (3) C 27 071 7550
) Low Thick High (4) D 26 0-82 7522
wﬁﬁﬂa?ﬁ%%qﬁﬂ%ﬁgaﬁ@mﬁwwﬁw@? !I
| . Whi _ I | :
o ‘*Jf?’? . 3 ;. 74 ﬂo};:: iDSf zl;irzl:;wmg statements about the sequence of events in sexual reproduction in a
((21: -j: U::ﬂ-f :_ :: ; (1) Seedlings are formed after pollination and before development of embryo
3 PN e 2 i .! (2) Embryo is formed before pollination and after fertilization.
(4) P P b i (3) Seedlings are formed after pollination and development of embryo

(4) Embryo is formed after pollination ‘and formation of seedlings

A) U Hon ofiatmospheric nitrogen in the Correct sequence | FfcTRaa 5 A $19-1 Fuq T B A6 S it 92131 % F:7 F fou g8 27

A) Uptake ‘of compounds of nitrogen by plants through the root system | (1) TTT % 9veTq SR Yo & fasfaa 20 %tf_q_qaﬁqf g Fd 2|

(B) Synthesis of plant proteins and other compounds

(C) Conversion of nitrogenous wastes from dead pj | (2) T %B‘E:Y 3 U= % JEETq YO =1

| ea : : :
compounds piants and animals intg nitrogenous (8) T AR yui % fashm@ F qv=Tq FaIghg a4 |

D) Fixati j Fl , _ o |

f‘} xation of nitrogen from atmosphere by certain bacteria and blue-green algae | (4) T AR qEIEE ® a9 %W?LEE’TE!W%I

Choose the correct option. |

(1) (D) = (C) — (A) — (B) '[2]7 T4 o8 75. Which of the following statements is not true about endocrine glands?
(3) (D) - (A) - (B) — (C) (4): (D) - (B) (A4) - () (1) Pancreas and adrenals are endocrine glands.
AN AFE F i & Frefefaa o =5 ;:@ F4 T wpafo it (2) Endocrine glands secrete hormones through ducts.

(3) Pituitary gland is attached to the.brain.

Y | (4) Endocrine glands secrete hormones.
- B?ﬁmw%ﬁém WWWWI?W ! i o Q@ FH-T1 FY9 3aEE TiE o § g T8 2e
(D)?Gﬁmﬂ( =1 )Wﬁa-ﬁﬁa’mma@dgﬂﬁm@% (1) Wmaﬂ(&ﬁﬁ?{_{@ﬂﬁﬁﬁﬂﬁlﬁ%l
ZT(D)’ T;m o (2) sid e it afefEl g EE &
= (C) - (A) = (B) 20 (A | NP
3) (D) - (4) - (B) - (o) 2> (D)~ () - (B (3) e sf wfes @

- (C) (4) i Tl g #1 wE w E
DET-24-1] (L)

P.T.0.
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76. Read the following statements .
Assertion (A) : Deforestation €
Reasoning (R): The infiltration rate O

ot ods 78. Microorganism: | -
an lead to flo i i R R Be S can be both useful as well as harmful to us. Which of the following beneficial
(water is reduce u lorestation. ProCESSES 1S not carried out by mICroorganisms?

(1) Breaking down of organic wastes
Choose the correct option (2) Increasing soil fertility

(1) Both (A) and (R) are true and e (3) Preservation of food items in homes
(2) Both (A) and (R) are true but (R) 1s=not thefcorrectireasoning:ior:(A). (4) Preparation of medicines

(3) (A) is true but (R) is false. HEHSIE T TS0 R e aifhren 26t 2 w1 freifefan # @ #e-a ammre s g 7w T

| | X .
(4) (A) is false but (R) is true. EZI i’rﬂ e
R N 1) Siideh A9ITE] &
Fraferfes a1 = ofew . (1) XIET<hT STqeE

(2) T<l 1 AT EARIVE: cjﬂj T

(R) is the correct reasoning for (A).

3@3‘?%1'-? (A) : TEEH/aH FT a1g 1 FRO 8 T ¢ (3) =0 H =g et = ghme

% (R) . 9 Fe A T ) AT T HE A B (4) STufea] ==

el foses =1 w599 fif| - ,

1 < S0 _ 79. Which of the following is not likely to increase the fertility of soil?
(1) (A) &fﬂ (R) 3H1 99 2 3T (A) 1 (R) H&l GEN (1) Substitute fertilizers by organic manure

(2) (A) 3R (R) 31 59 % f=g (A) #7 (R) Tl % 781 2 (2) Leave the field uncultivated between two crops

(3) Grow different crops alternately every. season
(4) Maintain minimum distance between the crops while sowing

frferfad 3 @ foeehl ge1 i 3w = gem $ G ga8 w5y 27

77. A teacher gives the following materials to two groups of students : (1) SHH! F1 eI @E Z T
(2) < A % &= Td F fo=1 9w s 2

(3) (A) ¥ § fg (R) 36 2|
(4) (A) 3E9 2 i?hrg (R) 97 2 L.

Group A :  Three rectangular glass strips, a circular plane gl *
S : glass plate, some 3
bangles and cardboard-tube and disk = Ol (3) W Fq § UG (AT $EA 3T
Group B :  Two plane mirrors and-ahard cardboard/box (4) S I T G ST FH T QT
;::iili;igle following gadgets can be préﬁa_;_fed by the groups A and Busing the above sets of 80. ?T)hic};1 ho:;une 1s responsible for the process of m;ta;norphusis in frogs?
; Adrenaline (2) Grow ormone
Group A Group B (3) Thyroxine (4) Insulin
(1) Periscope Kaleidoscope el H HETY & THH & ¢ FH-H1 BHE Il 27
(2) Kaleidoscope Newton’s disk (1) Tﬁpﬂ?ﬂ_’l (2) qﬁ HUIE!
(3) Kaleidoscope Perindtoe . (3) iR (4) ¥gfer
(4) Periscope Pink it
ole camera . . o i : : : : :
~ o e > i 3 81. A teacher, while teaching a topic in chemistry, identifies the following conceptions of learners.
WEILSED . . - > 2 . = .
U % [SEngal & 2 G‘{é =1 f=fefiag Q] T i Which of the following is not an alternative conception?
H9¢ A : O AEAER 19 ) uitE] wigH JHER T (1) Carbon atom is black in colour.
g fem @ @E’ ﬂ ii%@gﬁa&nnﬁaﬁa—rﬁ@aﬁ ‘ (2) A chemical bond is a line between two atoms.
s : iy (3) Adding oxygen in a reaction is oxidation.
TS Sl TR S ehy W/ﬁ'ﬁ‘\q (4) Allotropes of carbon have same atomic number.
mm(wrﬁ)%w%mﬁmﬁmgmﬁw ESPR . @ﬁﬁw_ﬁanﬁ@ﬁw%%w%w,mﬁﬁaﬁﬁﬂ%ﬁmwvnaﬁaﬁtwm%lﬁm%ﬁaa
L% 72 B ai § 4 - A o T 2 i
(1) it S | (1) & T F1ell 8l
(2) FeEEIEEN T #) o (2) T TEERE ey A T & dH e
(3) FeTEEFM A (3) sfirfpan § STEEISH <Ter1, ITeE (SATHRR) 2
(4) uftepm Rrdrer @) 1 ¥ SCET] &1 GHE T FHIE €l R

31 BP0
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82. Which of the following represents a correct scientific analogy?
(1) Pure gold is as soft as butter

(2) Mitochondria is the powerhouse of a-cell.

(3) Fuel burns like a fire

(4) Battery is to flashlight as headlight'is to car.
ﬁm%ﬁgaﬁﬁﬁ:-mwmﬂéaﬁaw(w)aﬁﬁxﬁaaﬂm%?
(1) fay/e 91 g=ey ) 7@ F194 241 2

(2) GEHNE (TERrFad1) PR F HHE Bl £

(3) ¥UF 3T Hi e el B

(4) ¥ wiveTEe 3 fu AR A 2 3 eww 1 F B

83. A teacher organizes a debate on nuclear energy in class. What could be her objectives?
(A) To make understand connection between science, technology and society
(B) To familiarize learners with issues of global concern
(C) To promote students’ conceptual understanding about nuclear reactor
(D) To make understand about responsible use of science for benefit of society

Choose the correct option.
(1) (B), (C) and (D) (2) (A), (C) and (D)
(3) (A), (B) and (D) _(4) (A), (B) and (C)
Us g1 S8 ¥ T S | ae-faR = 7T 160 2| 396 9 1 8 a6y 87
(A) Tovm, IR we gue F 9 F g9yl S aEnEE
(B) Toamedi =1 aftas TR F T8 | 3974 F=A)
(C) =] RuaR & Fay & faenfia) &) saurvnes 953 (919) 1 TreETEd FET
(D) F=1= * fea-wm % for fagm & <ifegel swam ¥ aR & wwemn (sEam)
TEl Towcs =1 997 Fifsm)
(1) (B), (C) 3 (D)
(3) (A), (B) 3R (D)

(2) (A), (O) 3R (D)
(4) (A), (B) 3R (C)

84. Which of the following is not consistent'ﬁiﬂn the contem

‘ _ porary understanding of science?
(1) Following one scientific method is

surely and the only way to scientific discovery.

phenomenon.

(3) Investigations in science may involve repeated action o

- n an 0 . .
method in any order. y one or all steps of scientific

32

85. Consider the following excerpt

Bohr’s '--hﬁ“r}’ of atom marked a revolution in science. It led to proposition ol stationary

CNErgy states for electron, in which the electron does not radiate energy while revolving
round the nucleus.”

What does the abgve excerpt illustrate about nature of science?
(1) Science is subjective
(2) Science is value-neutral.

(3) Science is tentative

(4) Science is socially and culturally embedded

%’1—{ WY % g 3 e & i en ) gEh O 9 3eideA 6 o for o= SAaand 9 S,
FAFEH A % =R SR T F g9 9 F AR 78w

3T I§ faqm A wFfa ¥ wEy § w1 fufa w27
(1) foam =afwfm @)

(2) fom wm (q=)-Fma (=) 2

(3) Tomm srarh 2

(4) T wmifom va wregts =g @ afifa 2

86. Read the following statements :
Assertion (A) : Science undergoes paradigm shifts.

Reasoning (R): Existing scientific theoriessand laws may be discarded in light of new
evidence.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct reasoning for (A)

(2) Both (A) and (R) are true but (R) is not the correct reasoning for (A)
(3) (A) is true but (R) 1s false.

(4) (A) i1s false but (R) 1s true.

fr=fafaa FuHl 1 dfen

st (A) ¢ TawE ) e OREdAl F1 S FL T R
T (R) . qu ey % v § fremm At ferd @ e 6w e (B S a2

T faerey &1 994 ST

(1) (A) 3 (R) &F1 & € @1 (R) (A) 1 TE T 2

2) (A) 3R (R) &1 7 & g (R) (A) F1 T 6 R
@) (A) T & R (R) 37 ¢

(4) (A) 3w ® fFg (R) 9 &

DET-24-1I (L)
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Sy . " nurturi reafivi
87. Which of the following should be emphasized by the teacher for n ITINg Creativity?

89. Why do scientists use sc

lentific modelling to analyze the behaviour of systems?
(A) Engaging students in inquiry and discovery oriented tasks

Ata) . L) Modelling does not need Instruments
(B) Highlighting right or wrong responses while evaluating students’ tasks | & Anfdac <s S

(C) Encouraging students to do tasks without any fear of evaluation (<) Modelling does not require any computer calculation
(D) Encouraging learners to find right answers to all textbook questions

3)

Models are simpler to analyze than real ‘system
Choose the correct option.

4) Model
(1) (A) and (B) (2) (B) and (C) (4) Models cannot test nypothesis
3) (A) and (C) (4) (A) and (D)

1 AT, TRt % sga=n R 1 Tavemm 3 3 fqu Ganfres vfasau =1 Iuan w5 27
TR S 9iE 0 % Ry e o feiifes 3§ @ fe @ 9 R S =R

(1) a6 fow fardt o1 Y armerwraar <2 2t 3
(A) TS (TI0A) TS 329y (@) 73] 3 Rreidiat /) 9em @ : e : d
(B) Taemiedl & %l % HeATH o g9 Tl Y] TTed IR ) SAR FHEAT /T 6 ST (2) FNTEI ) ThHl Freget afeper < ArervEwa A€ Al 2|

(C) 19Tl ) qearh A va-e B F1 w0 ¥ R I

(D) TSeial 1 w3t Traarges wet & wé I I w0 % v 3fd w0 (4) wioeq aReeq ) 8 g o 2|
el f9ey 1 w7 i

(1) (A) R (B)
(3) (A) 3R ()

(3) ardles o ) a1 ¥ gfeaey favemo +#33 F e ot 21 2

(2) (B) 3R (C)

a7 90. A teacher performed an experiment in ‘the class and students recorded the following
gH (&) STRA(D) statements S; and S,
88. During a science class, a teacher shared with her learners that the credit for the invention of S1 : Oxygen is a supporter of combustion.
electn‘c, bulb is usually given to Thomas Alva Edison. Several others before him worked on it Sp : Oxygen is a non-combustible gas:
but failed. What does the above remark by the teacher indicate about science? R,
: . . e T Which of the following is true?
(A) Science is an Interdisciplinary area of-learning. |
(B) Science is dynamic. =g (1) S;—Observation; S,—Observation
(C) Science is a collective enterprise. ;

' (2) S;—Inference; So—Inference
(D) Science promotes scepticism.

Choose the correct option.
(1) (B) and (C)

e R =R L Sk T 3 PR S S T S, RS (s R
o e ) o 70 1 8 e o o1 e T e 0 v, 5 st o Ry

‘ S, : AT T N-SHaeid T &

(3) S;—Inference; S,—Observation

(4) S;—Observation; S,—Inference

(A) 7o =g =1 7. fawgs &9 2

| frfafga § ¥ FH-91 99 27
(B) To31= Sftgdasfia 2 |
= S . S,—3TqATE
(C) Toem w= amfes zem 3 - (1) S—ad®d; So
(D) fa57 Fvmar (FEfsm) ) gem 2 2 (2) S—frepd; So—fTshd
ET::': Paee! - (8) S;—frehd; Sy—Faa
) 2) (C) s (p)
(3) (A) R (C) 4) (B) s D) (4) S;—3adIH; So—=rY
DET-24-11 (L} 57
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IMPORTANT / He™ T‘]i

Science) Or from Part—IJ] (Social Studies/Social -Science)

C

Al

TIFMHT ) ¥ e 31 @ 90 =1 @ wm—i (w9 AFH) T W—II (@i MLE )

qme fawm) ) =3 §

e —

PART—III / «uT—III
SOCIAL STUDIES/SOCIAL SCIENCE /. ®THT(eeh 31&ddH /AT forgmm

| T
l/ Direction : Answer the following questions by-selecting the correct/most APpropriate
| options.
| e "~
RECE ﬁﬁ%@ﬁm%méﬁ%%ﬂﬂﬁmﬁﬁm{mﬁw gl
== .

31. The Harappans were master craftsmen and possessed knowledge of metallurgy.

(1) copper (2) "_bronze

(3) iron

(4) ‘brass

ST HIAT & A1 28 RIegsw & T g1g-T1 H.994 9|

A1) e (am) (2) a1 (Fe)
(3) i (4) e

32. Read the followmg statements carefully

A. The first ‘Singh Sabhas’

by them as non-Sikh

Choose the correct option.

(1) Both A and B are true. (2) Both A and B are falge.

(3) A is true but B is false.

(4) A 1s false but B 1S true.

:’%-——f%f'@aawﬂ‘qﬁwmﬁtr%q:

A1) A 4R B ZHi g £
(3) AV 2 dfF B 519 2

DET-24-11 (L)

33. In the seventeenth century, the town of Masulipatnarr

N was a centre of intense activity and
it laid on the delta of the river

(1) Kaver; (2) Godavari

(3) Hugli (4) Krishna
BELRRI R R e R R RRER e RN Y it S ———

(1) =rerd)

141 = 2o W e o)

A2) mMerat
(3) ?.jlﬁl (4) HWII
34. Match List—I with Ligt—ij
List—I List—1II

(2) Hiranyagarbha
(b) Prashasti

(c) Pishtaq

(d) Nastaliq

(1) Inscription

(11) Ritual

() Gateway

(iv) Writing style

Choose the correct option

(1) (a)—(n), (b)-(1), (c)—(i11), (d)-(1v) (2) (a)-(1), (b)-—(i1), (c)-(1v), (d)—(i11)
(3) (a)=(i11), (b)=(iv), (c)-(i), (d)(ii)

THA—I 1 g=—11 § firem fifse

(4) (a)-(11), (b)—(1v), (c)-(ii1), (d)=(i)

qA—I g1
(a) fETogmd (i) T
(b) YwIfeq (i) 3IqEM
(c) EEGIED il) JAYER
(d) T=feT® (iv) <EA-3=h

el ey 1 974 Hifu)

(1), (@)=(i),  (b)=(i), ()= (d)=(iv)
AB). (a)(ii), (b)), (c)-(i), (d)-~(i

(2) (a)=(1), (b)-(i1), (c)—(iv), (d)—(ii)
(%) (a)—(n), (b)-(iv), (c)-(ii), (d)-()
35. Which of the following dance forms were recognized as ‘classical’ forms of dance after
India’s Independence?
(1) Bihu, Bharatanatyam, Kathak, Kathakali, Odissi and Manipuri
(2) Bharatanatyam, Kathak, Kathakali, ‘Odissi, Kuchipudi and Manipun
(3) Bharatanatyam, Kathakali, Odissi, Bhangra, Kuchipudi and Manipuri
(4) Bharatanatyam, Kathak, Bhangra, Odissi, Kuchipudi and Kathakali
freferiaa o @ 9 3 ¥ @1 9Ra F E=dEEd F 939 TEE T §4 F ®9 § 589H @) 157
(1) g, saTem, FuH, HUhell, ieHl T3 AU
f2) AT, Fu, wuwdl, AfeH, FFEIE @ wgh
" (3) sRaTEm, T, e, wimel, FHE T A
(4) WIS, Fu, MITSI, HAfeHl, FEIE 1@ Fuwhd

P.T.O.
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36. Consider the following statements about the Mansabdari system :
A. The term ‘Mansabdar’ referred to an individual who held a position.
B. It was a grading system used to fix rank, salary and military responsibilities
Choose the correct option
(1) Both A and B are true (2) ‘Both A and B are false.

(3) A 1s true but B is false
FAgEeR| eyl & ¥eM H Fefoifen sua) w =R $iftw .

A. FEEER Y= % ¥4 V@ Fihal & fore B o, R 91 ye e o)

B. & T Avfl-=gaey1 it fomgs siftt g2, a7 it &9 3awfie Ry f sm 9
gel f9ecg &1 9949 S|
/(1) A 3R B 34 99 B

(3) A 9™ & 97 B 3@ &

(4)~A is false but B is true.

(2) A 3R B 3! 39T 2|
(4) A E9 2 dfF7 B 9 &

37. What was the name of revenue system which was introduced by Todarmal?

(1) Igtadarn (2)_ Zabti
(3) Jagir f[i‘)‘;Mansab
A g1 AT 1 TS TSa-NUTTe] &1 91 A8 Y17 _

(1) TR A3) ¥

(3) TR {4) e

38. Consider the following statements regardiﬁE_‘Mehrgarh :

B. The bones of deer, sheep and goat were also found at Mehrgarh.
C. Mehrgarh houses were square or rectangular in size.
Choose the correct statement(s).
(1) A and B (2) B and C
(3) A and C (4)- Only A
TEvTe ¥ Hey # fAfdfEd FyE 1 f&g=r Fif
A. gz 2 T 91 SE @R 3 el 4R 9T T A e E
B. ¥evre # feroil, 4€1 ud awicdl A #feat  wrd iy
C. HgUie 3 97 F1FN AYF] AFATHN ¥ |
81 99 /541 71 997 FI
M) A shtB 12 B 3 C
A3) A 3 C (4) Fad A
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A. Mehrgarh was the place where people learnt to grow rice and maize for the first time.

39. By the early twentieth century, Indian women were working for reforms in __

A. widow remarriage B. female suffrage C. better healthcare

Choose the correct option
(1) Only A and B (2) Only A and C
(3) Only B and C (4) A, B and C

offgell ¥4 % AN B & ey wfgerd i gyn ¥q FH @ |
B. it arfien C. =Fat TR gl

72) Faw A 3R C
A4) A, B 3 C

40. Who composed the following Marathi devotional hymn?

“You made us low caste.

Why don’t you face that fact, Great Lord?
Our whole life, left-over food to eat

You should be ashamed of this.”

(1) Chokhamela
(3) Mirabai (4) Basavanna

fore Frefafas gudl ufeag =1 ) == i

g 7 AR sifa = aEn
I HeTwY, qH W T fufa En w5 @ 2w
T SEH- WSS Tl el R

(2) Karmamela

39 fore M Wy gre I T =)
(1) TTETHHA] (2) FTHHA]
(3) = A

41. Consider the following statements on ‘challenging the caste system’ :

A. Raja Ram Mohan Roy translated an old Buddhist text that was critical of caste.

B The Prarthana Samaj adhered to the tradition of Bhakti that believed in spiritual

equality of all castes. =
hans Mandali was founded in 1860 to work for the abolition of caste.

C. The Param
Choose the correct statement(s).
| (1) A and B (2) B and C
i (4) Only A
(3) Only B

‘qﬁgmaﬁzﬁﬁﬁ'%mﬁﬁﬁm%ﬁaﬂmﬁmﬁwfﬁmz

] ST 9 R A H 491
. wmmmﬁmwmwmaﬁm%maﬁ
| : mﬁmmﬂﬁﬁﬁMﬂwmwﬁTmﬁaﬁﬁﬂmmﬁﬁwﬁﬁmmw

C. aﬁumm%@mﬁoﬁmmﬁwzﬁnﬁm

& e[ /FuA B 9 b .
(1) A3MB BN
(3) %« B (4) ¥4 A

~ [ P.T.O.
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42. Match List—I] with List—II

List—II

List—I
(1) Veer Lakhan Nayak

(a) Leader of Salt Satyagraha in South India B
: S as Chandra bose
(b) Organized Prabhat Pheris (11) Subhas C :

(i) C Rajagopalachari

(c) Legendary tribal leader |
(d) Radical nationalist (iv) Ambabai

Choose the correct option

(2) (a)—(11), (b)-(111), (c)—(1v), (d)-(1)
(4) (a)-(1v), (b)—(iii), (¢)—(11), (d)-(1)

(1) (a)-(1), (b)-(1), (c)—(ii1), (d)-(iv)
(3) (a)—(m), (b)=(iv), (c)-(i), (d)—(i)
T=—I F1 gE—I1 ¥ fmm Hifve
ge—I ge—1I
(a) TI&U YRE & T9% FgmE F A (i) R @ TEE
(b) FMTAHRA] 1 &S a1 o \ (i) 9 5 19
(c) To=am SH=E 34 - S \ (i) e TSI

(d) YREdasfia UEam! - \(iv) HrETETS

qel Tahed 1 9949 hieiu | |
(1) (2)-(i), (b)—(11), (c)—11), (d)-(1v) _(2) (a)-(ii), (b)—(i1i), (c)=(1v), (d)={)
,(3) (a)-(1), (b)-(iv), (c}=(1), (d)-n) (4) (a)-(iv), (b)-(iii), (c)=(11), (d)-(1)

43. Which of the following were demanded byi’rile'lndian National Congress in its early days?
A. Indianization of the administration e

B. Separation of the judiciary from the -executive

C. Civil Service Examinations to be held in many Indian cities
D. Purna Swaraj

Choose the correct option.

(1) Only A and B (2) A, B and C

(3) A, Cand D (4) B, C and D

v T i ¥ s R 3 Feftad § & 39 #9905 o7

A. IITEA &1 IRAEGHRD

B. =9Il & FEc® H el F

C. uwa % &% wed 8 fafad da1 wlen = AT

D. YU F=0H
(1) %aa A 41 B . (2) A BanC
(3) A,CERD |(4) B, C#nD
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4. Match List—I wit ot . i .
A4, | with List—II in the context of List of Subjects currently in the Indian

Constitution

L I_;I_Ezr -J [ist- ”’
(i:‘l] otate List (1) Taxes
(b) Union List <« (ii) Education

() Concurrent List,” — —(iii) Health
Choose the correct option
(1) (a)=(m), (b)=(), (c)-(iii) (2) (a)-(i), (b)—(1), (c)-{u1)
(3) (a)—(11), (b)-(1), (€)—(11) (4) (a)-(111), (b)—=(n), (c)=(1)
T FHEHH B ad9A fwat 6 g2t % wed Fgeh—1 = gh—11 3 foem e

qel—I S
(a) mq«fﬂ {1). hY
(b) SSELT (1) faram
() (Rl (111) 3

el fasheq 1 993 Fifs
(1) (@)-t), (b)={1), (e)-(iii) 2) (a)-(), (b)=(i), (c)-(i)
4/{13] (@)—(11), (b)—(1), (c)—(ii) (4) (a)-(i11), (b)—(11), (c)-{1)

45. What would happen if the earth does not rotate?
(1) There will be shorter day and longer night
(2) There will be longer day and shorter-night.
(3) There will be rapid change in seasons
(4) Life would not have been possible_on the earth

ST Yol T A AL, A F1 Eme

(1) f&= Bt 8m R Ta =2 2|

(2) fea =21 &M 3R 1@ B A
_A3) e H SEH FEeE A

\4) gl T Sfied HyE T 8 e

ach the children to read and understand the map through the map of

46. If a teacher wants to te
India, which of the following should she discuss first?

A. Direction and scale B. Geographical status of India
C. Symbol/Icon D. National symbols of India

Choose the correct option.

(1) Only A and C

(3) A, B and C

ST T fifeE YRA ® AEEA ¥ T a=

(2) Only C and D
(4) B, C and D
ﬁ'mﬁaaﬁmawﬁmﬂwm%,ﬁﬁmw

frefrfag 1§ fF T =l e e
A, faan wE AEE B. Wid i e feafd
C. Ydih/weida D. Wd % 1 8
g8 foreq &1 994 I |
P A, B3l C 4) B, C ¥ D
41 [ERTRO.
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47. The opening time of the C Y
- f 11.}{‘ L 1l «

the local time of opening ©
01 S si
near Bengaluru and Q1°lo cAa

(1) 9:35 a.m and 8:40 a.m
(2) 8:40 a.m. and Q:35 a.m
(3) 9:20 a.m and 8:25 a.m

(4) 8:25 a.m. and ° 20 a.m

mﬁ%ﬁfww%m%@%‘aﬂm

& 9 TTDSO'{&WWWiW@P

g §9g =91 e

(1) gﬂ%g_%a@tmﬂgﬁ#amﬁ
(2) gﬁ?%&ma@tmﬂw%g:%a@
(3) gﬁ%%gzzoaﬁﬁmw#&%aﬁ
4) W%S:Qsaﬁwgﬁ%g;zoaﬁ

j"’ ,

48. Read the following statements -

A. The areas bounded by the Tropic of C

temperatures.

R. The mid-day sun never shines overhea

Choose the correct opton.

(1) Both A and R are tru€ and R is the correct explanati

(2) Both A and R are true
(3) A is true but R is false.

(4) A is false but R 1s true.

1tral Gmrmm(‘n
tral Govel

longitude N

t offices N India

is 9:00 a.m. IST. What wijj be
fices located at 77°30" east longityde

-tala, respectively?

-3 ST (MTta AT gqud) &1 8| . e

% 9:00 X ~
ﬁ?zqﬁ%:sﬂmmfﬁm%ﬁﬂﬂlﬁﬂ % HACE % Gor 7
) :
AN 1) N
{t\ \ /1
N

ancer and the Arctic Circle have moderate

d on any latitude beyond the Tropic of Cancer.

on of A.

but R is not the correct explanation of A.

A mmﬁ@a@(mﬁ%gﬂ)%mﬁmwmumwﬁl

R. ) ¥ A ¥ e o s W e Fgd F R F IR A R

o7 foFeg F1 999 FIST|

(1) A-ai‘nRa‘m”im%aenR,Aﬁqamm

.
'

" (2) A @ R34 & AfFA R, A FHE A A 2

(3) A B £ 9 R JFA B
(4) A @94 & 90 R 94 ¢

DET-24-11 (L)
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50.

S1.

49. Which type of rural settlement js me
= - I b}

of extreme climate?
(1) Compact
(3) Scattered

fopy geRT =

List—IT
Transverse waves
Longitudinal waves
Surface waves

1) |
(3) WehITl
Match List—I with Ligt—i7 -
List—I]
(a) P waves (i)
(b) L waves (i1)
(c) S waves (ii)

Choose the correct option.
(1) (a)=(i), (b)~(i), (c)~(ii)

(3) (a)-(1), (b)=(iii), (c)-(i)
gh—1 1 gh—I1 | firem Fifdyo

Gl goh—1I1
(@) P (i) o an
(b) L (i) e
() ST (i) THv
Tel fashcy F1 =997 Hifw |

(1) (a)-(1i), (b)=(1), (c)-(ii)
(3) (a)-(ii), (b)-(iii), (c)-(i)

Which of the following concepts can be depicted on a map in a geography class?

A. Ocean basins of the world

C. Delhi’s atmosphere
Choose the correct option.
(1) A, B and C

(3) A, Band D

3tly found in hilly tracts, thick

(2). Nucleated

(4)+ Linear

1 T S ge K Y B
Jea: RISt &, =R STt UE =y Sterar] a2 1§ ars s 87

(2)/ =2
(4) @

(2) (a)-(1), (b)-(1), (c)-(in)
(4) (a)-(11), (B)-(11), (c)-(1)

J@Y @), (b)), (e}

(4)" (a)-{i1), (b)}-(1), (c)-(1)

B. Strait of Gibraltar
D. Rainfall in the month of July

(2): B, C and D
(4). A, Cand D

riret =hen A Frefeman § & fF3 srmaronsd # Rk fEhE s R

A. fava % HRETRY «f6H
C. fag =1 argrsd
g faseq =1 99 HifvT

A) A, B 3R C

(3) A, B3R D

DET-24-11 (L)

B Teea Saat (W)
D.. {3 A1 d a9

(2 B, C3R D
(4) A, C3M D
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forests and regions
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e D
- . 1t lithosphere:
52. Which among the following statements 15 correct abol 55. One-lourth of the world’s elect
] [ - . - r'f:, . Xr 1
(1) It is the soft crust or the soft top layer of the earth | | (1)L Thermal pave: FICIty 1s produced by which resource?
) A8 s A ered by 2 thick layer of soil. | -
\AZ (3) Solar energy (2) Hydel power

cks and minerals, and cO
(-’—H Nuclear pOWer

(2) It is made up of ro

: - forms - » £
surface with various land fava & TH-NAT3 foepg -
(3) It is a regular su land for agriculture and human 3 T 1 3w

=gy - L
‘”#"{ %a W",ﬂ m E"‘]‘Fﬂ %’;"

(4) It provides us forests, grasslands 10T Ao i (1) FHME w1 7
settlements. B o - ) ﬁﬁﬁ e
ﬁtri%aﬁaﬂﬁﬁa’h—mmwga%aﬁﬂﬂﬁ%? ) TR TR
(1) T et i T 9E A FE FH T d : 56. Read the following statemente
(2) T® agrﬂ e = Q9 2 & Al fiyd) £ grgd o @l aIdl d A. Pittsburgh was once an important stegl
Tle steel city o . 1] Ny
(3) I& IEILE! @Jﬁlﬂwmiﬁ e 95 YA gl ¢ R. Iron ore was available in 1% . City of the United States of America
' 1THa Sl & fequ offH e d Pienty in Pittsburgh and coal came f
(4) T T 94, qgaT ! T4 & Tl ", &4 Choose the correct option : U, e O ce Al Muiicsota
7 .
(1) Both A and R
53. Read the following statements : (2) Both A are true and R is the. correct explanation of A
A. Hot air always rises up. and R are true but R is not th sl ;
(3) A 1s true but R is fa] € correct explanation of A
R. Hot air is denser. 1s false
(4) Both A and R _
Choose the correct option. D T are false
MHETARId FYA] &l qfeu

and R is the correct explanation of A.

is not the correct explanation of A.

(1) Both A and R are correct

(2) Both A and R are correct but R A. TCHET T 79 H HITh T4 3R TRV FHATq TTET o |

(3) A is correct but R is incorrect. g YHET H TR AR U= A1 H Iqc=Y 9] a9 9] a6 @eE 3 e o
(4) A is incorrect but R 1s correct. 3 gl Td&heq &1 94 AL

A) A 3R R 21 9 & G941 A F) R 21 =470 FEr2

frfoiiaa Ul  9feT - =

A nﬁmg%ﬁ?nmm%l (2) A 3R Rﬁﬂﬂ%%f&dAﬂRHﬁmﬁ{ﬂm%l

R TH 91 994 Bl 2 Bl A T SRR Wi .

8 fa5eq F1 994 HIVL| | (4) A R TH 37EHA 2|

(1) A am R 21 98 & 99T R, A &l Hel a{-@[%]__ S7. Choose the correct crop based on the st’a_t_ements given below
(2) A 3R R ZH F81 8 W5 R, A &I ¥l A1 T8 ¢ A. It grows well on alluvial soil. '

A F& 8, R 7 ¢ _ ,
/{3) B. It requires high temperature to grow well.

4) A7A e, R8BI - -
(4) C. It requires heavy rainfall and humid climate.

54. Which of the following statements is incorrect about roadways as a means of transport? D. Bangladesh is one of the leading producers of this crop
(1) Rice ._(2) Jute

(3) Maize ~(4) Wheat

1 R e o  SNUR W A FHA F FE FI

A. 3 3fg Sele ga A 3= Bl |

B. 3Im 3fg & fau 38 3= dH £ ATEEHA R 2|

C. T wif) i w1 7% Sy A A Tl 8|

D. SRy 39 FH 5 0N AR H 4 W Rl -

(1) It is the most commonly used means of -'transport especially for short distances.

(2) Roads built underground are called subways/underpaths.

(3) The plains have a dense network of roads.

(4) Roadways are the cheapest for canyin__'g__heavy and bulky goods over long distances.
ATATTA % W94 % F9 § meFAT] & an § Fefaiaed & F5-m 5 Tem 27

(1) T e 71 FEE Afe T S A W 2, e g % Ry

(2) sﬂﬁﬂammwﬁﬁﬂaé/mam@m@
(3) fer wmil # FeH T EH @ T AR X1) =m /2) T
/4)@{5“@%51?@%@@@@%{““%[ (3) wem (4)?@-‘-
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LR A a W —
i AR =0 YL o R . -
- ¥ .'. ¥ ‘;-l‘"" .
. il e A

his later life?

58. Which of the following religions Qb BRuddhism 61. Who among the following 1s/are
(2) Bu s 1€ associated with rural ad stration?

ﬁuﬁ%@aﬁ@&mﬁﬁmmmﬁqwﬁmﬁﬁmm C TC:ZH
(1) 39 o g D' Pe i &
(3) e o (4) Rr@ . Patwari

/ ’ Choose the correct option.

59. Which of the following is/are example(s) of ‘breaking stereotypes’™ (1) B, C and D

A. Male nurse (2) A and B
B. Female farmer (3) A and C
C. Male pilot | (4) Only D
Choose the correct option.
(1) A and B | ﬁq%ﬁgaﬁ@ﬂqmmmﬁﬂ@fﬂ@%/%?
(2) Only A A T e
(3) B and C B. @Y
(4) Only B | C. dedlacer
S 3 2 /A Feas wrn v TR /% T ’ D. e
A T =R | el faaed &1 994 Hifu)
B. Higa f&aH =~ | ;
C. T& Yo A1) B, C 3R D
=71 fameq 1 997 FIL | (2) AR B

A1) A3RB 8) A C

Y2) Fa9 A | (4) *dad D

(3) B3R C

)
et 62. In which of the following systems, small producers/workers have more chances of getting

a fair price for their products?

60. The States in India have begun to get reorganized in the year 1956 on the basis of which of (1) Putting out

the following criteria? :
(2) Cooperative

(1) External and internal security
(3) Subcontracting

(2) Administrative facility
(4) Outsourcing

(3) Linguistic and cultural unifornﬂt}

-

| Rreffgs & 3 g qumel 3 o ATR % e AR 1 AT ITE F TH 6 T TH TH H AR

(4) Geographic similarity and resoui’_fc_é__-#allocation

1956 & 4Fa & W41 % e $1 Fpea Frfafn @ @ fm anum o i | RICE i

(1) =T @ At e ' (1) TR e

(2)/3r-mrﬁra-: gfaan e ‘= _2) W

B ¥ITaTé T HIEHI T := (3) I9-JaT A _
(4) Srifer® SAEdl GE BE19a fam e I& B

DET-24-11 (L
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an livelihoods i1s/are true?

| 1rb
. regarding !
63. Which of the following statements T g

e righ

_ not have 118
St endors in urban &l eas do nties
A. oStreel vendols awful activities

¢ nl
considered as engaged 1n U

Town Panc

® al] or
orporalion o
5 closed N urban

B. It 1s the Municipal areas

-emain
the week the market has to rema

more than onec job.

; erln
C. Casual workers often have to engas

Choose the correct opuoDn
(1) Only A

(2) A and B

(3) A and C

(4) B and C

Wﬁawaﬁm%mﬁﬁﬁmﬁﬁ@ﬁﬁeﬁm-m/ﬁww%/%:

A Sﬁﬁﬁﬁ@-mﬂﬁaﬁaﬁmmﬁmﬁ%@ﬁmm-wwﬁﬁfmﬁ;I

afe® 21 §H1 ST B | |
B. 77 TRaTR /SR ) 9SEa 9 HuiiE S ¢ 6 e &3 A gHie & {6y A aem 9e wm)

C. ¥: JafHa R $I T ¥ m’ﬁ%m/mmq@m%l

T Tadeq &1 531 I —

(1) =94 A

(2) AR B 3

(3) AR C |
/4) B 3R C

64. A political party can be said to gain majority if it has won
(1) 2ll the large constituencies in a State
(2) one-fourth of the number of constituencies in a State
(3) more than half of the constituencies m .a State

(4) important constituencies in a State -

@mﬁammwmmﬂammﬂ?ﬁ%, W4 a7

(1) U7 B | 9e FHaf=3-431 7 3 en

(2) T3 A wF-9ré Fatea-a5 5
/('3) T4 8§ 419 8 2ius fafes-a5 4

(4) T3 B |+l HewEgYl Fratem- g =

DET-24-11I (L)

48

w

¢ to earn their livelihood becausge th
' e

ha\-‘al 'ﬂﬂ‘liﬂh dGCIdCS on whlch da

65. Which of the

A. A parent said tq her child, “Don’t Cry, you |
, Cry, you are

a boy.”

B. People in the cities only care about

| money, not about people
C. Girls should learn to cook :

D. Life in the cities ig €asy and sophisticated
Choose the correct Option

(1) Only A and B
1 (2) Only A and C
(3) Only A, B and C
4) A, B, C and D

ﬁmﬁ!ﬁaﬁﬁ@aﬁq-ﬁa&?ﬂaﬁﬁamﬁmm%?
A @”ﬁ‘%@ﬁﬁﬁm%,“nﬁmqmmw
B wﬁﬁaﬁw%mﬁﬁ%aﬂﬁmm%,ﬁnﬁwﬁm
C. ag%ﬁﬁ@mﬁ#m?ﬁ@mm%m
D. &0 ¥ Sfe 9ta v uftegg 2
gl fawed 1 9799 Fifs

! (1) %aa A 3R B

(3) *ad A, B 3R C

/2) Fa= A 3 C
(4) A, B, CHrR D

66. Identify the correct statements about the doctrine of the basic structure of the Indian

Constitution :

A. The term ‘basic structure’ is not mentioned in the Indian Constitution

B. It was propounded during the Kesavananda Bharati Case of 1973

| C. The Supreme Court has clearly defined the term ‘basic structure’

‘ D. The Supreme Court puts a limitation on the amending power of the Parliament

Choose the correct option.

(1) Only A, B and D

(3) Only A, C and D

YA GRAUT % THRYd & & Herd (7d /a3 §a9 | HEl FH! H Te=E H
VeRTeEl SR g MR wiau § S w6 2

A.
B. =¥ 1973 % HyaH= SR A % wwy ferewel weqd fo A
S SRR D S i R UL ERE R

(2) Only B, C and D
4) A, B, C and D

D. mw@a%vﬁmm%m-ﬂmmﬁl

| Hel forshien 1 =@ il
(1) *aet A, B 3R D
Z}S)WA,CGWD

(2) % B, C 3 D
(4) A, B, C 3D

PET-241 (L) 4
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v

e under the Union Government?
com

rcsponsnbﬂmes

69. Which of the ff‘}llr)wing IS not cove |
o e ; SOVerec
« with China Forest Dwellers (Recognition of B it

67. Which of the following .‘
alatio under the Scheduled Tribes and Other Traditional
A. Making peaceful relatio | Rights)-Act, 20067
(1) To undo the historie

< : 2]
B. Maintenance of jaul Al injustices meted gutito forest-dwelling population

| , = 72) Recognizes th
: y s In a State (2) EN1ZeEs e right )
C. Introduction of new train Bht to homestead, cultivable and ezt Tand By farest dwellers

(3) Recognizes the right to timber fore
-- . TES

D. Census St produce by forest dwellers

(4) Rights of forest dwellers includ

Choose the correct opuon. € conservation of forests and biodiversity

) [ "
ﬁHI(‘[‘{Jd ﬁ -]j q:F‘-Tﬂ ﬁ?,ﬁ:q :ﬂ':i’[{?a-‘_‘ W ]TT_.' T T - 0 r e el o o oy S R -
re ~ | Ud G T 994911 (99 HEERE 51041 ) A-MEHTH, 2000 b
(4) A, B, Cand D sl i 2

(1) Wﬁ?ﬁ%mﬂ@ﬁmﬁzﬁ FAH Hl g FAT

.;-*/{ ) : STH-IT8 h T, Aeft 3 = A st ox I STfEreRm ) w4 2

(2) Only A, C and D

(1) Only A and C

(3) Only B, C and D
7

ﬁmﬁaﬁﬁﬂﬁ:-mﬁcﬂzﬁﬁ%ﬁm%mm%.

A =9 % gy wifagel §9Y S
B. SRR H TWEME (3) I WHRT 6 AHA o It T AT A e 4 7 2
= | _ IRIE
| 4) 1 Td 9 -fafaue s off aqatiE ¥ s § o
C U=y # T3 el 1 g | (%) Ml S % AR F o R
S | Sl
D. ‘ | 70. Marginalization leads individuals and communities to
T8 fawe 1 994 HiWC| = |: A. have a low social status
| (1) Faa A 3R C Z‘{’Z} #dd A, C 3 D !| B. unequal access to education and resources
(3) 94 B, C 3 D _(4) A, B, C M D | C. deprivation

e e _ | D. ample opportunities for social development
68. Consider the following about the role of judiciary in India :

= . Choose the correct option.
A Resolution of disputes between citizens, and between citizens and government

(1) A, B, Cand D

B Formation of new laws in country’s-interest

C. Judicial review 4% | (2) Only A, B and C

D. Enforcing Fundamental Rights l| (3) Only A, C and D
Choose the correct option. | (4) Only B, C and D
(1) Only A, B and C are true. (2) Only B, C and D are true. l| mﬁw,mﬁﬁﬁﬁﬁﬂq{eﬁ@ém%
(3) Only A, C and D are true. (4) All—A, B, C and D are true. A. e g wfost s 3R
uRa & e #1 Jfte & o § Frafofed o famm fif B, fiien i GETeA] T AR TEH 0 A
A. AW @ BER 3 A % 79 2 gu fead 5 P C. 3vE i AR
B. 2 f&d & 7 /A1 1 fmiu | D mmRE fra 3 frg e i H A
C. =ggs gH4 l"l 8 faseq &1 =984 FT|
D. Hfas wfgwn %1 Farag | (1) A, B, C3RD
wél fades 1 =77 Fifem | | | (2) %ad A, B3 C
(1) %3¢ A, B 3 C &4 ¢ ﬁ)mB,cmeg, ll. (3) F=dt A, C 3M D
(3) ¥ad A, C & D ¥4 %/ (4) A, B, C ¥t D asft e &) l'l (4) %@ B, C 3 D
DET-24-11 (L) | | 51 BELO:
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71. Read the following statemen

R. This approach
knowledge

Choose the correct option
(1) Both A and R are truc «
(2) Both A and R are truc but R
(3) A is true but R is false

(4) Both A and R are false

is not the-C

_n,lel,d'lgm_jln’law approach in ‘”"‘mm
“loyy

integrated nature of social g
: e
¢

A1) A 30X R 2HI 99 & a9l A RW@@TW%I
(2) AaﬁIRﬁW%ﬁ%‘?Aﬁ Raﬁmqﬁ_fw%t

(3) A T 2 AfF R 3 t
(4) A 3 R 2 3 ¢l

~9. A social studies teacher should discuss the current affairs in the classroom because

A. it helps to sensitize the students about the issues of soclety /country

B it develops critical thinking abilities of the students

C. it helps the students to relate the everyday issues with their subject topics

D. it provides some entertainment for the students

Choose the correct option.
(1) Only A and B
(3) A, Band D

{2) Only B and C
“(4) A, B and C

vF FEITEE A F 06T F) F4] H THREAF FHE T TG S G, FE
4 7 TaedEdl ) wES /S0 HEE % Wi FAeEa a9 8§ e i 2

B 7 FralfEd ) AT fa - A ff e b

C. ¢ faanfddl #1 2 qa) F1 3F @9 ¥ WY S Ta § gera F 8

D. 7 faeniddl & fou $8 T YR i ¢
gel fawes %1 237 Fren|

(1) 9 A 41 B

(3) A, B @ D

DET-24-11 (L)

Xz)mBaﬂtc
(4) A, B 3t C
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73. Read the following statements

A. Concept mappi
i n[{ 1S : :
C%l!ﬂp]f‘ and eas I._}— ; t-p(-hﬂuﬁ“m Oy which the teacher can make the subject m 1tiel
i J1C allll CaSy Dy incorpor: o b b o, '

rrh s ,Iprirr-itinf.{ new r_‘{}ﬂ{—{jljrq} 1\U1th Drrh!r”_i_"}ll .,H'. i'r'.--qi !_?'_,i""l"_| P '_'JT_](-F-'TJt‘;%
R € concept m

: ap 1s hie ‘HKic -
rarchical, it“does not show multiple relationships between

concepts

Choose the correct option

1Y Both A and R are
(1) are€ true and R is the-correct explanation of A

(2) Both A and R are '
true but R is not the correct explanation of A

(3) A i1s true but R is false

(4) Both A and R are false.
erfafiaa e i afeu

Eiatllillll I”*i%l..m & - f ﬁ\ F: _:2' . - 2 - = - ; ) 3 .
2 N N 5 1 T g e 73 el A @ Al ) TR SFEFRmE] 6 HiE
GHTERTA hesh [qUaaE] | 9d d H&s o1 Fehdl 2 | | |

R. TGN A TSR aidl 8, 98 SAaUTuna! & 9= & 9g-qadl i e T2 = B
@ fase =1 =94 i)
(1) A 3R R 21 4 & 721 A $ R FE1 A7 F- ¢

(2) A 3R R g & A A $1 R e AL TE F 2
) A Gl @ A R 3HA T
(4) A 3R R 3H! IFA 2|

74. When students plan to do a role play=in-a class, Sunamna refused to play the role of
Bhimrao Ambedkar’ in the Republic Day programme organized in her school, saying that
she is a girl, so she will wear a girl’s dress and play the role of a girl or woman only

The reason for her behaviour reflects
(1) gender discrimination

(2) gender equality

(3) caste discrimination

(4) gender stereotyping

mﬁﬁmﬁwﬁﬁmﬁéﬁ(ﬂat@l)ﬁmm,@mﬁmﬁma RS IRIET hﬁmﬁ’jﬂiﬁ:ﬁmﬂ A
l‘*ﬂTm?lﬁ@'ﬂ?{’ﬁ@ﬂﬁ%ﬁﬂﬁmﬁﬂwmﬁmﬁaﬁ@ﬂa’%l%,%ﬂmqaﬂst{%mmm
qﬂfﬂﬂm@aﬁm@mﬁaﬂ’ﬂﬂg"rﬁm@uﬁsﬂmmmu%&mm%
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D _ R EIEEE———————

es Of children, SO it should be the duty , 7. which of the following wii help

IN creat -
«tudies classroom? ng a positive environment for learning in the social

[

al science class €

75. An inclusive SOC

. Confidence h

- - - > | )

a teacher t« Jieannot 85 A N children’s ability to do tasks assigned
A assess whal children can ant = tg participate B, Comparing one student or cl G

- iy which all the students | OT class with another in assessment
es - |

B. plan learning straict sation in her own contro| C. Emphasis on satisf

and their partici] actory completion of work

| : 1eir voice : .

bl & .n's experiences, tl o - ety D. Accepting genuin

C. keep children P ..o for projects and assignments B & € €Xcuses for late submission of assigned tasks/projects
. 10U Las 5/ P1OJCLLS

e tn C S€
ents to choO Choose the correct option

D. restrict freedom ol stud

Choose the correct option. (;) ;1 ]Z anc; (; (2] A3 C and D
1) A and B (5) i @).A) B and D
= ffiad | © M- S - | ﬁ
(2) B and C e ‘ I Aor Fa1 R 3 oo qhaw 6 = FE o meEd w0
(3) Cand D | A, Traa FEl ® wE R a= R anaet § fwam
1) A and D - . | B, ke B T feemeff stoen e )y o ¢ /
% - TR I el R e Y/
WWMWWW@EW‘E'@W | \ c. A H 7 FHOH T A o1 /
A Wmm%ﬁﬁmﬁﬁﬁ%ﬁﬂwqﬁf / 25 RRISEIRL Al < WS FA F A arafE Twn = w69
B. @mmﬁﬁﬁﬁmmﬁqﬁwﬂﬁmﬁwﬁaﬁﬁ F2) famea &1 =41 i)
" _.'\-L ﬁ l,.. _@q-'
< ~eo N ' g-ﬁ[a{ oTd T | 3 ;
D. qREEIs T < FM@ tq TR W%j\ﬂ‘l‘ﬁﬁi £ T | (3) B, C 3R D (4)-A, B 3 D
=7t faeq &1 994 S| Rt | . .
; s = | 78. Which of the following can be used as primary sources to discuss about ‘regional cultures
/1) A 3B = | of the seventeenth and eighteenth centuries?
" (2) B 3R C ks A Stories from the temple theatre of Kerala
(3) C 3 D AR | B. Popular tales of Marathas
‘ EiS |
(4) A3 D | C Dance costume of a popular Kathak dancer

: : : D. Bhanudatta’s paintin ‘Rasamanjart’
=6. Which of the following is an appropriate perception when a social science teacher 18 engaged \l P - ]

in an activity 1n classroom? | Choose the correct option.
(1) The teacher does this only to complete her lesson plan. | (1) A, Band C (2) A, Band D
) The teacher pretends to fulfill the order of her Principal/Head Teacher to promote 3) A, C and D (4) B, C and D
activity-based learning. mwmﬁwﬁﬁ‘mm’%ﬁﬁﬁﬁ%mmﬁﬂﬁmmmm
(3) The teacher does not know why she is doing this. Rl ) 7 fra s g 27
(4) The teacher believes that activity-b,aﬁed learning helps children to understand the A ¥ > AfR-oTE Fartrl
Coneert b B. w3} <l i M
oo 2 e T S S 4 8 T A e ffer o o e A o l C. i o 0 1 7 T
(1) ST T FAE AT U8 TSI F G0 FH G FA B D. mﬁ@ﬁw*mﬁaﬁ’
= | : b : SRR
2) wﬁ‘@MHW/umﬁwﬁsﬂﬁri’aﬁlwqﬁmﬁmﬁmﬁ%mﬁqﬁﬁm w8 fygeq &1 =54 I
crcild A B3 D
: | (1) A, B3R C (2) ° 5,
(3) A A A i FE A RE R . A~ 4) B, C 3D
- A )
/(mﬁﬁwmmﬁﬁm%%nﬁ%ﬁ-mmm,mmﬁmﬁﬁ@mmﬁl [ARCHRIND 7 | PT.O
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L ctivity that promotes critical thinking—p
C . I

thout reading he original article
e with _ !

on a contr{wergial topicC

ect-specific concepts

e drawn on a world map keeping an interval of 1° each?

Jongitudes can b

How many

2
How are 1gneous rocks formed:

Why is the year 1991 recognized as hnpdrfant for India and many other countries from
y is the dde

economic perspective? =

approach has-become disaster for India.” Do you agree with

(4) “Opting for mixed economy

the statement? Explain. &%

B 3 2 - T S [ A g 2 &7
(1) foa ¥ gHRE W IEE 10 F ﬁn<1mt@%§q1ﬁ?_@;§ﬁﬁm@ﬁwmi?
(2) v Srat & o 52 e 27
3 aﬁmg@éﬂ%aﬁlgmﬁuﬁmw#mﬁ%mmﬁm@mwy
Tard &7 SATEA] i

4 (4) “wra % forg fafba srd=aaen 3 OF e 59 T B AT §9 A A

81. What should not be the task of a teacher in a constructivist classroom?

(1) Provide opportunities to learners to explore their social world

(2) Modify the classroom environment to shape learners’ behaviour

(3) Avoid learners to reflect on social iSSU€es

(4) Provide resources to enable learners to "éxperirnent and discover for themselves

vz THAER w41 F g F Al Fw Aty
(1) Fawrfédi %1 sraw YeH FA1 A1 3 A9 AHIE 3 ) @S g
(2) 41 % FAET &) 98] dlieh [Geddl & Haen . arn 2 < 9%
/(@) T ) w57 w foa 03 2 bk e,
(@) Faid 1 mgm =3 3 o, e a1 3 e s 3w

DET-24-11 (L} -

V—‘_—

q a creauve an
32 AS C e and rﬂﬂECtlU{? social sclence te h
, v ~ial Sclence teacher
hance «
enhal and sharpen your teaching skills?
o

A, Self-study

B, Follow and work with the textbook:.only
. Conduct action research :
D

Collect or create case studies
Choose the correct option,

(1) Only A and B

(3) A, B and C

Srefeafad 3 8 F/&1 Sa?
| A, T4 ST
| B. hdd UreHJEH Hl ATE a4 36Y & FH F

C. Torames FTTEYH FH

83. Read the following statements :

Choose the correct option.

(1) Both A and R are true and R i1s the

(3) A is true but R is false.

(4) Both A and R are false.

Prefetfiad syt = el :

A. ﬁmﬁwm%mﬁa@mﬁam

R. ﬁaﬂﬁw%mwnﬂ?ﬁmﬂwm%@
Tl gafnfea € el ¢

H e faeheq o1 =9 ST |

) A 3R R 2 T &

(2) A 3 R 21 @ & e A LR

| (3) A H@ 2 AR R I8 B

(4) A 3l R 21 38 &l

| DET-24y1 (L) %

(2) Only C and D

. : (4) A, Cand D
| - IH % Regh-%E9 § o A fieo P w399

D. 8 ALFIA 1 U F1 HH

7d faea 1 =94 i |

(1) *aa A 3 B (2) Fa@ C 3R D
(3) A, B3R C /@ A, C3RD

A The teacher needs to be very selective and judicious in the selection of

R Folk music, folk dance, stories and riddles used by the teachers to introduce the history
of the community may at times contain biases

correct explanation of A.

(2) Both A and R are tru€ but R is not the correct explanation of A

SR B ohl ATEER 2l 2

which

of the [ollowing would vou do to

e

.;J'.L_!

4 b il

local content

i fFe S are SR, AT, AHHUT d

[ P.T.O.




. to compare the literacy rate |
Id be a better source o P s ¢ of 8th :
84. Which of the following Woul . +h the literacy rate o class pasg p.. 28
' o Territory Wi OVs
pass boys and girls of a Uniol ang
! S q? (
girls of States 2) Sacondary data
(1) Primary data hicidat
' ra IC dala
(3) Primary and secondary data f) Lo das
‘ | S e @ e, TS 8 wan
éﬁzm%am%saaﬁaﬁwwaﬁsﬂ?a@f%dﬁ'ﬁ* IS TS 3y,
R ) e A Q) ¥ forg PR R @ FH- S ;
Rt Sfe
(1) sy stfee (2)

(4) T SHI6

esources, timelines and budget for the project e

(3) Wt e g sriws

85. In which step of the project method, the r
identified?

(1) Selection (2) Planning

(3) Execution (4) Evaluation
ST T2 3 Rem = B gREe o aEe), §E-Ei 3R qS 6l 9E=H hl Sl @
(1) =& - /(2) I T
(3) A == (4) T
86. Which of the following aspects are coi;;”i__aered in the Right to Education Act, 2009 as part
of evaluation procedures?

—

A. Ensure that students attend all ﬂié;éxanﬁnaﬁons conducted in the school
B. Confirm with the values enshrine‘;:i-—i; the Indian Constitution

C. Help the child to express his or her views freely

D. Check the homework on regular basis
Choose the correct option.

(1) A, B and C

(3) Only A and B

(2)" BsECfand D
(4) Only B and C

L

C. aé%rm%ﬁmn/wa’laﬁafswﬂ ﬁmmﬂmﬁ
D. fafa #9 & mead 6 o9 = Ay
aé1 fazes =1 937 Fifan

mﬁBﬁ; @ B, Cehp
/(3’ PR D (4) %@ B 3f ¢
DET-24-1I (L)

S8

v

g7. Which of the fo]lowing are the ch

aracteristics of eval

A. Evaluation is uation in social studies?

4 continuous Process

3, It is an i
B, 1 N integral part of classroom teaching

on the basis of Written
D. It is closely re]

C. It 1s done
lests-only

ated to the objective
Choose the correct optign

S of education
(1) A, B and C
(2) B, C and D
(3) A, B and D

4) A, Cand D

frfafad 3 | g AT | G
A. HedTHd TF ad Tfka 2|

B. ¥e &7 & 1 U afi v 3
C. ¥e %aa fafled whiansti % snam w & frm a2
D. I8 & & I3l 8 Fiean w9 § gag 2

Tel faseq &1 999 Fifsu

(1) A, B3R C

(2) B, C 3D

3) A, B3R D )
(4) A, C 3R D

Bl BH-t Forgmand §7

88. Unit tests, class tests, homework and questions asked to students in the classroom durnng
teaching-learning fall under which category of assessment?

(1) Formative assessment
(2) Summative assessment
(3) Criterion-based assessment
(4) Assessment of learning
3H1S qhieqor, %ﬁqﬂm,wﬁ@ﬁm-aﬁm#mmﬁmﬁt@muﬂwﬁﬁm LR
1A 87

)\(1') AT 3T
(2) AT TR
(3) WiHIE-3nyTid 3TTehetd

A4) it 1 e

P.TO;
59 |
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e L " o e - ,H,, e, e gt Al e
AL e R, e YT -
a, il o g ...‘ \__ill,.. - -
g T A A s '

Y
w g A

"o the best way(s) to assess students Progressjye grUWth
p [ & > y

89. Which of the following W\ used as evidence to show to parents if needeq> g

achievement, and can also be

B. Rubrics

A. Term-end exam marks
D. Portfolio

C. Report card

Choose the correct option.

(1) Only A (2) A, B and C
(3) Only D
s § @ £H-a1/2 feafi & w469 i 3qafe & ST & T waiay 3umy R/ ﬁf@l/ﬁ;}
ST B R I % ®Y § qrar-fa F i GEE T !

A. TI-3Fd ThEn & 3 B. &l

C. wifa-y3 D. GBIl
Sl f9sheq $1 997 i |

(1) $aa A (2) A, B ¥R C
__{S)WD (4) C 3R D

(4) C and D

90. Which of the following questions assess-only remember aspect of cognitive process?
A. List the important projects started during the Second Five-Year Plan.
Write a note on curricular and cocuri':icular activities conducted in your school

B.
C. Describe with examples on the progress made in the field of medicine.
D. d

Examine the rights given by the Indian Constitution to protect the cultural

educational rights of minorities in Iadia =
E. Write the key features of Konkan Raﬂv_.ray
Choose the correct option. __
1) A )
(1) A, B, Cand D (2) B, C, D and E
(3) Only A, C and D (4) A, C and E
mﬁaﬁﬂﬁ-ﬁmwwmﬂﬁm%mwwﬁ HATHd 87
| ﬁ } ‘ C :
A ?@ﬁvaaﬁama:mmﬁéﬂwmwaﬁﬁmﬁﬁm 5
B. m@gaﬁeﬁwmamwﬂamaﬁ%ﬁtﬂﬁﬁrﬁﬁﬁmﬁmﬁmf
C. mmmﬁﬁﬁmﬁmaﬁaﬁ-ﬁm| |
D. 97d B JNq&TH F @i N
X ) O Fr-dﬂ ﬂam n .
e mﬁ@&ﬂﬁgwmwmmmﬁmﬁ
E. %1% 14 %1 5 fasiwan fafan
TE1 9% 71 939 Fifen

(1) A,B,C3#D

. 2) B, C, D+ &
(3) FF A, C #n D D ¥ E

/@) A C¥r R

DET-24-11 (L} ;
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PART—IV
LANGUAGE—I : ENGLISH

S e ————

pirection : Candidates should
(}[.}Ijﬂd for ENGLISH

attempt questions from Part-IV (Q. Nos. 91-120), if they have

as LANGUAGE—I only

| o

ead the passage given
R below and answer the questions (Q. Nos. 91-99) that follow :

Do children really need gch

recently. Apparently, such
| , a S ki L
their learning process, “| et long :Tﬁ‘ﬂk disrupts their development and comes in the way of
e - S G{-‘_‘l’ t e = ~ PR =T = - ’ o 1 T = — - T=ap - .
would have thought the Chxld:en °m back-to their books”, is perhaps the expert view. One
given the plethora of clasges
. } Cam S an T I 1 - o TITNINO = w0 T 5T ¢
development, music, computers and fhel S e a1
laden with exotic destinations and custo

long summer:breaks, was a question posed by some experts

are doingiteo much during their vacations and not too littie

ke, Even the trips taken in the name of holidays seem
We can g0 EurOpe {H 10 days By mised CXPETIETICE pé?l(;l{{?f.’l I1TLO & I‘?.hi'rr“ '._';r“l-f‘ ='_,;-r_’f‘_=";1_' '-"_r;"u;"-.
memories and overflowing suit ustralia in a week and come back armed '~|lJ
- ' cases. Holidays are, in some ways, no longer a brea< but an
intensified search for experience not normally encountered in everyday life

22s ks .15 a far cry frorp summer holidays as we know them. For us, holidays every year meant one
thing and one thing alone—you went back to your native place, lozmhg in with the emotional
headquarters of your extended family and spent two months with ag_,’lgglf of uncles, aunts and
first and second cousins. The happiest memories of the childhood ofrha whole generation seemed
to be centred around this annual ritual offhemecoming

3. Summer was not really a break, but a:jomt. It was the bridge used to reafiirm S
connectedness with one’s larger community-=One did not travel, one returned. It was not an
attempt to experience the new and the extraordinary but one that emphatically underlined the
power of the old and the ordinary. With the-change of time, what we seek from our summe
breaks too has changed in a fundamental way

4. Today, we are attached much more to our work and summer helps us temporarily detach from
this new source of identity. We refuel our individual selves now; and do so with much more
material than we did in the past. But for those who grew up In different times, summer was the

best time of their lives.

91. How do students spend their summer breaks?

(1) By killing their time and playing for endless hours
s like art, music, etc

e weak

(2) By attending camps and workshop

(3) By revising the areas in which they ar

(4) By reading books

k from daily stress?

92. How are travel and tour not a brea |
rience, packed into a short period of time

(1) They are laden with customised expe
reak from an intensified search for experience

(2) They are a b .
exhaust our savings.

(3) They require a 10
(4) They are armed wit

t of investment and
h memories of one’s native places.

61 IR C):
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ffer 'S 1ose of the former days?
93. How are present-day suminel breaks different from tl

(1) We refuel our individual selves
(2) We are attached much more t0 our work.

- »'g larger C
(3) A bridge to reaffirn our connectedness with one 8

(4) Both (1) and (2)

ommunity.

_ 2 . | _ S
94. “Summer was not really a break, but=a joint what does the author imply?

(1) Summer break intended to help a child connect to their kith and kin and build a strong

bond with them.
(2) Children spend their summer break by killing their time by playing for endless hours.

(3) Long break disrupts the development of children and comes in the way of their learning
process.

(4) Summer break is necessary to rejuvenate oneself and going for trips to exotic
destinations.

95. What used to be the happiest memories of childhood for the author?

(1) Going on a trip to Europe (2) Visiting one’s native place

(3) Attending summer camps = (4) Reading lots of books

96. Which one of the following words 1s Euﬁﬂar in meaning to the phrase ‘made to suit one’s
needs’, as used in the passage? =

(1) Attached s (2) Plethora

(3) Customised (4) Gaggle

97. Which one of the following words is oﬁBanéite in meaning to the word ‘emphatically’ as used in
the passage?

(1) Carefully (2) Irregularly

(3) Foolishly (4) Casually

98. “It seems such a long break disrupts their development.”
Identify the clause in the underlined part of the above sentence.

(1) Adverb clause (2) Noun clause

(3) Principal clause (4) Adjective clause

99. Identify the part of speech in the underlined word of the following sentence :
Summer was the best time of their hves

(1) Adverb _ FE (2) Adjective
(3) Modal (4) Conjunction
DET-24-11 (L) 62

Rcad the extract given below Sk
dNsw

Into the sunshine €r the questions (Q. Nos. 100-105) that follow :

Full of the light
Leaping and ﬂashmg
From morn ti] night!

[nto the moonlight
Whiter than snow_}

Waving so flower-]ike
When the winds blow!

Into the starlight.
Rushing in spray,
Happy at midnight
Happy by day!

Glorious fountain|

Let my heart be

Fresh, cheerful, constant,
Upward, like thee!

100. The movement of the water of the fountain reflects
(1) Joy
(3) earnestness

(2). sadness

(4) weariness

101. The poet wants his heart to remain fresh. It means that he wants
(1) to take a bath regularly

(2) always to be dressed elegantly
(3) to have new ideas all the time
(4) to keep on moving all the time

102. The poet admires the fountain and he feels thrilled to see it. Which word in the last stanza
expresses the poet's admiration?

(1) Glorious (2) Cheerful
(3) Fresh (4) Upward

103. Identify and name the poetic device used 1n waving so flower-like’
(1) Metaphor (2) Alliteration
|
(3) Personification (4)° Hyperbole

104. Which literary device has been used In stanza 9 to enhance the beauty of the lines?

(1) Alliteration
(3) Anaphora

(2, Oxymoron
(4) Transferred epithet

105. The poet has used the words like whiter, blithesome, cheerful, etc.

9
Which part of the speech do these words belong to:

et (2) Noun
(1) Adjective 4) Interjection
(3) Adverb
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: 114. You want to ensure
. . : . lear y P - | - Maxim, e
106. Which one of the following is true for language learning following methodg wou] 1M participation of the student

AT G B e i , d you adg s of your class. Which of the
(1) Language learning happens through reading ol language textbooks only (1) Discussion - 10pt for this purpose?

(2) Language learning accelerates in print rich environment (3) Model reading (2). Demonstration
(3) Language learning is not required’ for learning of science and mathematics | (7 Recitation
(4) Language learning happens unconsciously 115. A listener while

_ 5 - 18 |iste
107. Crying, cooing and babbling are all the examples of _____ stage ol language development, "INg process known as?

(1) linguistic (2) pre-linguistic (2). Top-down process

(3) Inferential process

(3) expressive (4) referential (4). Linear process

| 1 | 16. Which one of th :
108. Garvit was speaking in Hindi to his peers-in his classroom. When his teacher called on him e ¢ following coulg be the ‘while-reading activity’ when doing a short story?

he immediately replied to her in English. This is an example of (1) Learners discuss to pPredict the events in the J

(1) code-mixing (2) dialects (2) Learners do pair work ang read mutually to one another

(3) socio-linguistics (4) code-switching (3) Learners discuss biographical details of the poet

(4) Teacher asks meaning of ne
109. Which of the following terms is not related to Vygotsky’s socio-cultural theory? 8 0f new words and encourages them to frame sentences on them

(1) Social interaction : ‘
| L 117. In one class you don’t ask any questions, instead you give them some short texts and ask
} (2) Scaffolding your learners to frame questions. The objective behind your task is to

(3) Zone of proximal development : (1) develop your learners as good paper setters

(4) Language acquisition device (2) take their help in your own task of setting questions

e 3) make your learners realize h ' it ]
110. Every syllabus talks about learning outcomes which means (3) Y. ze how difficult’it is to frame questions

) e ol ANt the bt ad B (4) enhance your learners’ analytical and ‘critical thinking

(2) change in the behaviour of the learners

(3) completi f all | 118. Language assessment aims at measuring
om on o essons

(4) change in teaching method of the teacher (1) how each learner achieved in comparison to his peers

(2) their overall or summative achievement

111. Looking for a number in the contact list of your phone is an example of (3) the language achievement of learners

(1) scanning (2) survey (4) the language proficiency of learners
(3) review (4) skimming
| 119. The use of teaching aids aims at

112. Defining new words within context instead of making the children learn meanings of new ‘ (1) engaging learners in learning tasks

words | . - f the learners
(1) often confuses the children (2)..optimizing.leaming JUCiton. : I
A . e f oom
(2) helps in better understanding of the word (3) minimizing cases of indisciphine in tlhe c_assr
) ' | oom
(3) promotes rote memorization (4) drawing learners’ attention in the Classt

%) cacsitolwastage ofjtime vourite book-and retells the story often by using pictures as

120. One of your students takes a fa

113. The type of writing in which the author mostly places himself as a character, (sometimes he cues. This strongly suggests
may not) and narrates the story, is known as ’ (1) emergent reading stage

(1) expository (2) persuasive
(3) descriptive (4) narrative

DET-
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(2) phonological awareness

(3) tactic awareness (4) narrative awareness
syntactic
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24 which one of the following Word
[ " = 0 [
1 the passager rAS 1s similar in meaning to the worc

] 'rnngnnmmmn;’ as used 1n

Selfish
LANGUAGE—II : ENGLISH (1) o
(3) Pctty v Gfﬁﬂf-‘_'rrﬂl'j
e _-_-__'-"‘—--.
| {4) SUS‘p]GIr}ug
Direction : Candidates should attempt questions from Part-V (Q. Nos. 121-150), if they have 125- Which one of the f()llowmg word
opted for ENGLISH as LANGUAGE-II only: Ry passage? >7CS 1S opposite-in meaning to the word ‘fierce’ as used in the
| e ) Wild
Read the passage given below and answer the questions (Q. Nos. 121-128) that follow : { (3) Ferocious (2)=Savage

There was a king, Shibi Rana, who enjoyed immense power. E'Tren.gods in heaven were (4)>Tame

jealous of him. They feared that Shibi might one day take away thcﬁaqulcmlgdoms. ’ljhey'devised 126. Identify the clause in the underlined

a plan to test his sense of justice. So they decided to reach Shibi’s kingdom in disguise The king assured the part of the following sentence

“agle that he would give equal quantity of any other food
(2) Adverb clause

One day, Shibi Rana was sitting on his' throne. His courtroom was surrounded b}{ majestic
gardens. There came a scared dove flying-to:him and it was followed by a fierce looking eagle.

(1) Adjective clause

y,
/

The king gave shelter to the dove and saved her. The eagle argued that the king has taken (S)knncipaiciause (4) Noun clause

away his food—the dove. It would starve. The king assured the eagle that he would give equal : |

quantity of any other food. The eagle asked for king Shibi’s flesh. The magnanimous king 127. Which part of speech is the underlined word in the following sentence?
agreed with a smile. A balance was brought in the court. It was soon found that with each His courtroom was surrounded by majestic gardens

addition of the king’s flesh the dove grew heavier. The equal balance was not arrived at. But (1) Noun (2) Ad ective

the king remained calm and unperturbed. 3 Adverb : _

The gods in the guise of the dove and the eagle were assured of Shibi’s righteousness. The /@ (4)= Conjunction

l, forms of the eagle and the dove soon disappeared. In their place stood Indra, the king of the

- : : . | 8. Which part of the followin t ' 5
gods and Agni, the god of fire smiling-and blessing the king for his benevolence and | 14 : s COn IR SO ETTOT,

greatness. = | The gods 1n the guise of dove and eagle _are certain of Shibi's virtue
= = (@) (b (© (d)
121. The gods in heaven were afraid of lﬂng_—éhlbl because | (1) (a) (2]7(d)
(1) they thought he might have djsgujé_gg_fhjmself as god. | /(3) (c) (4] (b)

,;--12] they thought that Shibi might take; e_;snfay their kingdoms. | Read the passage given below and answer the guestions (Q. Nos. 129-135) that follow :

(3) Shibi had a great sense of justice. —_ -

Fitness is zero percent investment with infinite returns. There is a surge mn diabetes and
hypertension cases and other lifestyle diseases. Fitness is the only thing that can help. But
with technology, physical activity has reduced. It has become fashionable to talk about

(4) Shibi’s courtroom was surrounded -By-_h‘lajestic gardens.

122. The king saved from the fierce : | fithess rather than act on it.

(1) the eagle, dove ‘

/(Q)/the dove, eagle | declining. Children now walk far less than they used tol. Instgad of wallqngt:o T{rhback f::;n
(3) Indra, Agni | their school. they use a school bus, or get dropped and p1clf-:ed in a car. Once back home, they
[HEagnt Bada . sit glued to the idiot box for several hours er keep playing computer games.

Several factors are cited to explain why fitness levels in school children are constantly

atively impaéi-a child’s physical and mental health from
bing .sleep patterns. There 1s neither place nor
en’s diet consists mainly of fast foods, fried foods,

Excessive screen time can nNeEg

increasing the risk of obesity to disttur
(2) benevolence ™ inclination to play outdoor games. Childr

123. The king was blessed for his

' foods may be delicious and, therefore,
- Tt eets and fizzy drinks=These ) |
(b) greatness B choco?ates, crispies, SW I:je hly deficient in vital nutrients. Parents are often aware of this, .bUt
(c) calmness N tempting, but theylare f% children, they hardly ever discipline their eating habits. Girls,
. out of misplaced love 10 e AT iy ive their bodies of vital
(1) Only (a) _ = (2) Only (b) usually ke:n to remain slim, keep dieting unnecessarily and depnive their

(3) Only (c) )44 Both (a) and (b) | nourishment.

| [BRHNOL
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of time playing in fresh air and exercise even moye

It is important that children spend plenty |
op and their bones grow pi operly. If they

at their muscles devel
own to the swimmillg pool, 1t would combine the hf?l‘ncﬁlq;

e encouraged to take healthy ang

than the grown-ups in order th
can go for a regular swim and walk d

of both walking and swimming. In addition, they should b |
wholesome food rich in nutrients to avoid what may be described as convenience [oods,

129. The activity/activities that take(s) up most of-the evening time of children is/are
Aa) playing video games

(b) watching TV

(c) walking and swimming

(2) “Only (b)

(1) Only (a)
A4) Both (a) and (b)

(3) Both (a) and (c)

130. How does girls’ keenness to remain slim affect their health?
(1) They have more inclination towards fast food.
/{?} They fail to take essential nourishment because of dieting.

(3) Their muscles are not developed.
(4) They do not go for walking and swimming;

131. What fault does the author find in convenience foods?

(1) They are readily available \ ._']'iT’I_‘_hey are delicious and tempting

(4f:-f-'ihey help in muscle development

)&3] They lack vital nutrients

132. Which one of the following words is similar in meaning to the phrase ‘going down’ as used in
the passage?
(1) Averaging

/.8] Declining

133. Which one of the following words is opposite to the meaning of the word ‘lacking’ as used 1n

(2) Dropping
(4) Rising

the passage?
(1) Deficient
(3) Unnecessary

(2): Deprived
N4 “Vital
134, Which part of speech is the underlined word-in the following sentence?
They are highly deficient in vital nutrients. ==

)IT Adjective [2] Adverb
(3) Noun (4) Verb

135. Explain the phrase ‘out of misplaced love’ as™used in the passage.
(1) Love that does not exist (2) Love that is harmful

(3) Love that is blind /{’4) Love that lacks discipline
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earning to writ;
1 rocess appr |
(1) P PProach to Writing

(3) analytical Writing

d]ffr*
K “T€nt stages of writing is known as

(2) product approach to writing
/{ﬁ) creative writing

137 which of the followin

g 1S the m :
: 0
Communlcatlon 51‘(1“3? st SLllta.blE‘ dSSEesSsInernt EIQT.IUITEJ" for ASSESSINE learners’

(1) Describing a scene from 4 picture book
00K.

(2) Playing a role in 4 rgje play

4) Listening to an :
df(dr) i3 i S aLrldlo text and responding to it orally.
(4) & peech in a given situation,

138. According to Chomsky, human beings have a
(1) learning set

/(f’;) perceptual set

to develop language
(2) biological disposition
|4) telegraphic readiness

139. A multilingual approach to SChOOliI‘lg from the very beginning is chiefly helpful in countering

the ill consequences of
(1) school dropouts (2) learning disabilities

(3) losing one’s own language : A4) weak communication skill

140. You engage your learners in a fun energizer activity before beginning a new lesson You do
t_}}_is to
Al) motivate and prepare learners for the class
(2) reduce your workload as a teacher
(3) maintain discipline in the class before the lesson

(4) divert the attention of the learners

f

141. Constructivism as a learning theory believes
(1) learning is individual characteristic
(2) all learners cannot learn languages
_A{3) learning is completely psychological phenomena

(4) learning is socially constructed

bine elements of different languages in the same sentence This is an

142. Sometimes people com
example of

(1) code-switching
/(3] socio-linguistics

143, Students often lack confidence
language. One way (0 overcom

(1) encouraging children t read In clas;i"-___ : 1

(2) conducting special speech therapy with a c0@se or S

(3] usi ame-like activities which require oral interaction in classroom
P Smg g =

(4) correctin e students make

__(2] code-mixing
(4) dialects

when speéking due to the unique pronunciation rules of the

e this problem 1is

g whatever errors th
[ P.T.O.
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144. Reading a novel is an example of

% - ALY'CE g
(1) extensive reading (2) intensive reading

(3) scanning " (4) skimming

145. What is the basic objective of using a quotation in an essay?
{1) To set the tone of the essay
(2) To explain a complicated issue
(3) To present another’s point of view

(4) To analyze specific data

146. A teacher provides learners of class VIII an article which she considers sl‘ightlly above theijr
language level. Learners have to work with the text to do many tasks. What is this known as?
4’1} Learning hypothesis (2) Incomprehensible input

(3) Reading comprehension (4) Comprehensible input

147. Teaching of grammar is chiefly useful for improving

(1) fluency _ (2) accuracy

)3) literacy “(4) numeracy

148. The objective of grammar teaching is to enable students to communicate. Which among the
following is not in tune with this objective?

(1) Students should have command over every aspect of each grammar point

(2) Students need overt instruction that connects grammar points with larger
communication contexts

(3) Students should master only those aspects that are relevant to the immediate
communication task

/(4] Error correction is not always the teacher’s first responsibility

149. ‘Semantic cues’ in reading are prompts
(1) that help in decoding the word
~—12) for the correct pronunciation of the word
(3) that support the meaning-making process
(4) for identifying the grammatical form™

150. Which approach to language teaching-learning believes language is a habit’?
2@] Communicative language teaching (2) Cooperative language learning
/{3) Natural approach (4) Audio-lingualism
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128. ‘w® & gu-fa=aT 2
(1) 99 + T (2) T + &
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